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What Is Covered In This Book?

Objective 1, Number and Algebra

Write and solve problems involving whole, decimal numbers, percentages
and fractions using a range of strategies and with an appreciation for the
sensibleness of the answer.

Order and understand placement of digits in whole numbers, decimal
numbers and fractions.

Recall basic multiplication and division facts. Recognise that numbers can
be partitioned and combined using addition and or multiplication.
Express fractions as decimals, decimals as percentages and vise versa.
Explain the meaning of negative and positive numbers.

Recognise relationships and calculate further using any rule formed.

Be able to correctly use symbols, and notation to represent linear
relationships and then to solve unknowns in any equations formed.
Sketch and use graphs to illustrate relationships.

Develop skills and confidence in the language of maths. Develop
characteristics of logical and systematic thinking which can then be
applied to mathematical problems and to other areas of learning.

Objective 2, Geometry and Measurement

Recognise relations and geometrical properties in two and three
dimensions.

Represent objects with drawings and models e.g. by being able to
construct triangles, circles and polyhedra.

Recognise and define plane shapes, prisms, pyramids, cones and spheres.
Draw, interpret and specify locations using bearings and simple map
scales.

Describe and design patterns in terms of reflection, rotation, translation
and enlargement.

Measure using correct units for length, mass, volume, temperature and
money. Read aspects of both calender time and clock time.

Use mathematical instruments and measuring devices with confidence and
competence.

Understand and calculate metric measures such as area, perimeter and
volume of triangular, rectangular and circular objects.

Objective 3, Statistics

Collect and sort data into categories.

Represent the findings of a statistical enquiry on an appropriate graph,
and identify any patterns or trends within and between the data sets.
Interpret and present data, predict and calculate, organise and analyse.
Evaluate the effectiveness of different displays for any sets of data.

Plan and present a statistical experiment using appropriate graphs.
Estimate possible outcomes for a sequence of events.

Investigate chance situations by comparing trial results with predictions,
recognising variation and using simple fractions to describe probabilities.
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5+2 = 8+l = I+3 = 2+6 = 2t2=
| +2.= otg= 6+3 = o+5 = 4+0=
5+6= 4+|= | +7 = 3+2.= 9+2.=
| +6= [+ ]| = 2+9= 6+e6= 2+ =
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4 +2= 7t = 7+7 = 5 +6= o+ |=
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(PON’T FOR4ET To LORRELT YoUR MisTAKES)
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WQ&@AV PITION — SV FEorLE ARE
WONPERFUL /
Y 8 6 5 A 5
8 8 5 Z 6 6
4 / o 6 6 6
5 . _5£ & 5 @ _4
5 48 84 26 S0 85
42 52 48 60 25 a9
24 88 (6 5 66 77
54 64 93 42 83 23
COMPLETE THE TABLES
+ 12 | zo 27 | 31 26 49
29
4
35
+ 52 48 29 32 | 2% 17
27
-1
L%J
+ (48 | 54|83 |27 |47 |36 |65 |56 |72 |45
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MisTAKES ToMAKE | 4 |43|c0|87|32|53| 41|71 60|78 | 50
AN EVERYPAY ITEM! | 5 |22\54 | 8|35 | 52| 40|70 |51 |78 |14
| |50|53|84|30 (38|36 |66 58|73 |46
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9 |57|62|87 |18 |40|44|62166 |80 |4
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CEALLULATOR APPiTioN ,
~ CLAVPDIA CALLULATOR, Will HELP YoV WiTH

THIS FAze/
THE FiRST $UMS/ —
246 260 07 591 Ble
+217 —fié_ _ﬂ _,._zig +34¢4
4123 6328 2479 8060 7589
+2915 +4980 + 756 +987 +4297
~oMPLETE THESE TABLES
+ | 119 124 (232|273 | 317 | 206
148
672 | |
MORE svMs 10 5o0LVE I
3456 1673 2124 1543 2165
165 | 5830 7514 3110 1972
+1918 + 4683 +2/(9e6 +5490 +2788
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SEE IF Y a e M:WN%/
75 6 292 695
129 55 973 | 28

78 76 +846 +831
+85 +490

240D 237
893 5497 8683 &85 195 185
565 288 4187 196 708 714
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36 - l4-= 9o - 44 = 38- 16 = 39-26 =
z1-16= &6 -32 = 72 -40 = 75 -63 =
28 -17= 79-56 = 87-35= 99-38=
47-23= 93-40 = 46 - 15 = 74 -30 =
84 -34= 88-35= 65 -32= 94 - 62 =
59-35= 79 -2 = 84-71= 79 27 =
488 529 650 7849
-2536 -207 -4Z0 -573
594 978 672 536
“562 -547 -34 | -2 24
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-71_8___ 7+q= 12 '\’6':
N+ (g8 = I?ﬁ"\‘]: ‘71’“:‘
A 6 q 10 20 66 79
9 o} 7 Il 2| 60 58
g 2 A 12 22 92 99
& 8 _4 > 25 28 ®8
127 440 707 4306 1887
+193 +299 +199 +25 41 t 2096
26 43 6l 35 54 75
—15 -2 — 41 - 16 -28 -4+
82Q 689 53 740 555
-516 -357 - 29 — 189 -712
846 927 450 4396
=758 - 579 - 186
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i - . 'q
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~START BY SoLViNa THESE PRoOBLEMS

3x4 = 67 = 4xq9 = gx8 =
2x6 = Bxq = 7 %5 = 6xq =
5x6 = 9x2= 4x4 = ) x4 =
4x6 = [ x| = 6x6 = 3Ix2=
5&5= Z%x2 = 4 x0 = 2x3=
gx| = 2% = 6x|( = 7x9=
Zxq= 5x| = 4r8 = 6 x5 =
4 x7 = T XLl = 7%x9 = Ox3=

~Now coMPLETE THE MULTIPLE TABLES/

[x8] 8 [is
LxIO] 10 |
]

IX|4|¢|2]|a9|5(8|1|7 |03
$HAPE|I\L¢LL1HE 26 12z|a 18 |iz|lio|l2 (150 |9
Wmi/o\!dﬂ? 6 |20|36]|18 |54|35|48| 6 |41 |0 |Zz2

] |8 |30|50|16 |72 (35|65 8 |65 |8 |2

4 |24|24| £ |26|9 32| 4 |28 |4 |12

lls|le|5(9|8|ie|1|7|1|3

3 Wz(18 |6 (27|15 |24|3 |20 |0 |9

oclale|2|0|o|o|olo|o]|o

7 .. 6eNoWMAX 15 19 1307 (40|20 45|10 |45|5 |10
Al s oFF T ExiBiT

Y,,n;oﬂ;!sw‘“ 7 |30|11 |15 |63|35|56 |10 |49|7 |20
ciTNa FR° .

px — |7 |2654(18 |81 45|72 111639 |30




YES , MAXWELL JUST GETS 50 W2 //
iTEP AT THE PROSPECT, ™ ,
OF MORE MWTIFLYING?Z,

MAXWELLTHE MiGHTY MULTVAYiNG , ., <
MOVSE , MOVES MAJESTICALLY To M- €. ATiTON S > X
MUTIrLYiNG MELoPIE S/ ———__

o x |0 = lox |0x |0 = |00 X |O =
(O x |00 = IOxlox|lox|jOo=___ |0 X |opo =
(00 X |00 = |000 x oo = 1000 X 1000 =

PRoPVET THINK ANSWER j

70 x40 (7 4)Yx (10 x 10)—

6o x 80 (—x_J)x (o x10)—

go x 940 (_»*_)*x(_x__)—__
= Now VSE THE METHoD ABOVE 4 T0 FiNp THE ANSWERS

BeELOW /

60 x 7o q0 x 20
20 x BO 70 x 8o
50 x 90 20 x 90
80 x 30 60 x 30
40 x 60 50 x éo
30 x 50 70 X 20
6o x 6o 40 x 40

PRopPVET THINK ANSWER

20 x 00— (2 xe)x (1o x (o0 )—

30 x 400 — (3 x4) x (__x ) —

50 x Booo—(__»_) x (_x ) —
WRITE ANSWERS ONLY FoR THE PROBLEMS BELOW
30 x 500 = 70 xBo0=____ 50 x 8900 =
70x300=___ = g0 x500: Q0 » 4000~
Bo x900=______ 40 x 600-= 400x 400 =
70 x400= = gox300=_______  700x 600-=
320 x 700-= S50 x 80o= 600 x 4000 =
40 x 200-= 500x200=<____ 4qo00x 9000 -

Qo x 2Z00= _____ 700x900:=



MeRE MULTIFLACATION -MaKE ATor propvet !

—START WiTH THESE PROBLEMS/
26 51 32 43 54 65
x3 x5 X7 *z x& x4
Ziz 4o 345 41/ 172 241
x> x5 X7 xZ x4 X8
~COMPLETE THE MVLIIPLE STieksS
|*22|20 |40 60
BZ
[xlz
~NoW SolLVE THESE PROBLEMSYS
25 43 24 23 55 4z
x| 2 X13 x| 3 x4 x4 x5
|26 785 249 412 587 350
X |0 X1z X (| xq X 1Z x 9
-~ SHAPE IN ALL
THE $QUARES
WiTH WReNG
ANSWERS!
« .
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= LOMPLETE THE TABLES ANV WeRK
ouT" THE ANSWERS To THE FRoBLEMS [ p
X[718131014 9| 3x7)+)= __ (7x6)+5 =
g (6Xx2)+0=___ (2x9)+0=__
> (3x4)+0=__ (5x5)+4=___
5 (BrxB)ts5=__ (7x8)+4=__
(2x2)+(=___ (4*2)+ 7 =
(5%8)+3=___(ax5)t5=
(7x3)+3=__ (qx0)t+8=
(5X6)t4=__ (3 x8)+to=
(4x3)+3 =___ (Bx6)t7=__
(4x0)+0=___ (8x2)+6=___
(4xa4)+t3=__ (o*4)+4=__
(A%x0)+8=__ (3 xe)to=___
NoW VSE YouR, MYLTIPLiCATia OWLE i
P N KN mgﬁfﬁj‘;mll‘{,
S x8=4x__ S5X_=lox3
42x) = Tx ___ 7X__=5x7
gx =] x 64 aGx 8 =  x¢
il 6% 6= % — Mol
12 X[o=__x3 6%3 =qx __ MUWEFLITTE
6X4=3x___ [oXx__ =4 %20
ZRN2=4x___ 7XI15=__ x3




“DIANNE, Po YoV PEFINTTEY (%
VIATNG pivisio EASY?” cypsl e

—

5<% = 36+-9 = 'rHEVPi‘;‘{g;'EA_:%Af;e} =S =

20+4 = S5+ = 60+ 6= 24+3%=
30+5 = [0+10 = 56+7= 32 -4 =
6 =8 = 36+3% = 262 = 15 =5 =
B+6 = 44+4= 63 +9= 40+8 =
28+7 = 45=5= 8+ | = 26 6 =
14 +2= 72 +8= q0 <o = 4 =7=
40 <2 = 27 9= 3= [= S0 +10 =

w)go  6)48 N4z 5)z5 7) 54
4)ie 9) 90 10)60 7)49 5)100
9) 72 ¢) 24 4)28  8)se 10)40

6)42 9)45 2)z22 3y27 1)8|

How ¢AN WE MAKE pivisioN EASY ¢
PO THESE 3UMS TO PELDE PIANNE’S HEFUL HiNT/

[T 2o (o) ce [Klzoo [¥]ae [
6 (O

3 1Z)192
V| 24 6z |T] 8 Rl 60 [W
ET 'E]T I'LJT T ull)Tsf
N| 3 L] 2 P Elar [A]
E]_;- [:_8i D‘—oz_.o' E 7 EIZ—FBZ

(34

50 % 13401613 430 3 2Z443I(3 50403

Zo0(l1Z 3011660 94 63 42503 1316
( REMEMBER. TO LORRELT ANY MISTAKES ) 7
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.. PIVINE VIANNE RMsEr (S
(MAX’WZYWIN’ J /,", T
8) 1088 7]1505  6)1941
5)840 6) 1548 8)1880
6)2294 8) 3408 3255 513285
705691 5)4245  6)5706 8)4341
~onnBE 51018 [wle|  [wln]
pivipING 18|z |4z 20 |5
SRUARES 6 |z f :

Z) 136 8 2)255¢0 4)30124 5)3 1210

7)271074 [0)789520  11)283910 12)190872
~SOME TURTLE i ooyl RELOGNISE RicH TVRTLES?
POWER. PUZZLEST < _

" 2833232 3 324549

— — — —  — e— — — e— — — — — 0

27 3Z 23 27 36 3Z 7323;44‘ 25 34 32 45 28 32 49 z5
WHAT 5 4REEN & vsES “SHELL 70 dio 100 kmhm ¢

—— — —— — — — —— — — — c— — — —

45 28434718 3¢ 32 3 37 4'5 25 272% 472825 35 45 41

236+ 8 K| 2z0-5 (R] 196 =4 I:[z5a 6
IN|zz2+6 T]iz4+4 L|igo=5 2808
E&oe-‘-‘f H| 27357 0] zo7-1 Ppl189=7
Al 540 -1 T!|336-1Z S| 2z75- 11 E|352=1|




A%%‘HER diioff SV

__Miss cLAVPIA =
.. Mi$. ol vapry,
3780 +2| = 6840 + (9=
8541 + 16 = 8150 + 25=
1ze84 ~28= 4637 ~17=
- COMPLETE THESE MVLTIFLE BOXES
18x543=[ | 18x345=[ | 18x262=
23x456 = | 23%654=[__| 257191 =
=Now po THESE PDivisioN suMs/
18) 4774 8)ez10 18) 4716
23] 10488 23) 15042 23)4343
24) 87414 34) 96084 24)a9756
20) 654300 20)445600 40) 340840

—THE FiNAL-TEN HAVE A DELIMAL REMAINPER. .
REAP THE FiRsT PELIMAL. ALACE AND WRITE THE
LETTER, ABoyvE THE NUMBER iN THE AVZzLE /7

[c] 352 = 14 [E]1571+ 26 [2lq41 + 14
[al700 =16 [N]484=15  [M]I448+24
Eg” "’5 @é50=—|7 1615-:—;7




MAX % Vi TEAM VP T0 BRiNG
YOU MORE OF THEIR . . . 7

g

I 4 | 5 I 6 17 | 8 19
x 4 x5 x6 x7_ x 8 xq
z7 Iz % 2325 346 132 240
X 9 x 3 x 2 x Z x 3 x 9
7O+ 7 = 60<3=___ €4:8=___ 42+-2=___
8l-9=__ 45+5=___ 40+4=__ 3B0r6=__
IZ/108 12.] 1 44 12/192 |12.) 240 lz):seo
2)25¢8  3)4725  4)é5432 5)31475

7 3785 & 780

+ 312 7744+ 6 5 243

20




NiFTY NUMBERS
I5+5 =__  12x7 =__
3%)2 = 4+28=____
l6+7 =___ |9-17 = ___
20-17=___ 45+9 =___
5x0 =__  55+5=__
369 =___ 3l+I1l=___
13+8 =____ )2=]2 =__
226 =____ I3+13 =___
4*15=___ 16x3 =___
99 Il = 14426=____

PosSsSiBLE FATTERNS

z,4,6,_,l0
5 ,10,15,20,__
| ,7,13,__,25
50 ,100,200,400,_ __
15,35,55,75 ,
) ,6,10,13,15, _
1 ,3,7,15._,
loo,80,60,__,
l,4 ,0,22,__ ,
Z,S,q 9'4’,__Q__

~ A 4

= THiS is e Eirsr o
30 W'K'w 5. WoRK
THRNGH THEM

_ YOVRSELE iptrrong ¢
WORPY WHIMS

4PLVS2Z =
JOMiINVS S =

3 LESSTHAN IS =
FiVE FiVES =
How MANY 2'siN20
PIVIiPE 24 BY 3 ____
PRODUCT OF 3ANP9
NiNE PLUS 6 = _____

29 TAKEAWAY 4 =
3 MORETHANS =_

EXTRA EXAMFLES

5+j2 = +8
25-____=8x2
TOTALOF 5,7,8,4
DiFFERENCE BETWEEN 16 %9
200+0/)2=

144-144 = _____
FOVR LOTS OF____EQUAL 100
Iox 0xI10=

HALF oF 4

410 PiVIDEP iNTO 5 PECPLE

THE QUViNTVUS QUIZ

4)88 3/99
7) 385 6)768 nJraa
NUMBER OF MiSTAKES

2
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THE SET oF MY TEACHERS i5

THE S5ET oF MY LLoSE FAMILY iS

THE SET oF My FRIENDS i$

THE SET oF MY FAWRITE THilNGS 15

THE 4ET OF My CAREER AMBITioNS iS5

Sl WP S At s

{
{
{
i
{

LiST THE SETOF STUPENTS iN OUR cLASS WHOSE FiRST
: NAME STARTS WiTH THE LETER :
N

T
Z|{

LiST THE SET oF:
= OUR T.V. cHANNELS { }
— QUR. $¢HOOL HOLIDAYS | }
- LETTERS iN THE WoRpP “TEENRAGER’ )

S AL Ad

= LETTERS iNTHE WORD ¢ iIBBiPDIBiB’

={ "2’3’4’5"6} {1747578"03515”15\“35!430"1555’-{

-{10,9,8,7,¢} -{3.6,9,12} Eeremevrsivem sers-

Q

S
-{s5,8) Y -{4,7,9) Avpevensinxay-
={ aﬂ,Z} A ={ 1 72*3} ALLELEMENTSiNAaRZ’{

N|X|R N

AN s et Sl




4 RULER.
YO P s

—FPLoT EACH $SET oN
THE WH?@. NUMBEKGL.idE
J

6 |+ 2 3 4 5 6 7 8 4
{u<gl . e
o | 2 3 4 5 6 7 e 49
<3 . S rETE
{m<3) © 1+ z 2 + 5 ¢ 7 6 4
{p>6) L -
° | 2 3 <4 5 6 7 6 9 A N
=ANPD o
le>4) - e
p L MWMBER
{r/7} e 1 2z 3 4 5 ¢ 7 8§ 49° Ll’NES@
-y ze0,2 3
-7 € -5 -4 -3 -. | o I 2 3
- . . f1<2}
-7 6 5 -4 3 -2 - o ) z 3
- A N 1 ' 1 1 A A L A — {i’<—3}
-7 6 -5 -4 -3 -2 - o 1 - 3
—~— ey {ns'l}
7 -6 -5 4 3 -2 -1 o I 2z 3
— i te> -8y
2 6 -5 -4 -3 -2 -1 ©° 1 2 3
{’Z<Y<4} ———! —- ——
3 -2 - o 2 3 4+ 5 6
-3< E< . i,
{ 3 2.} - 2 - o I = 3 + 5 6




7 ROPNEY RUER
y% ;51041: ALAIN WiTH 50ME ..

Sers/

—VEH &MY/

JUST FRACTISING
u 7 M;’;ng;ﬁ
T MFPERSONATINS
MY NAME s
THEREARE ____ LETTERS iN My NAME
PLACE THE LETTERS INSIPE THE CiRcCLE

INTHE VENN PIAGRAM. U is THE SET OF ALL LETTERS

=HERE i5 ANCOTHER, VENN PiA4RAM
HOWMANY IN SET F7_5
4iVEANAMETO SET F

F-{ }
WHAT WOULP BE A 4000 NAME
FoR THE UNIVERSAL SET ?

V i8S THE SET OF VE4ETABLES
LLIKE ~ Fill iN THE V GiRLLE

C i$ THE SeT OF ¢ARS
M i$ THE SET OF MOTORLYLLES
WHAT BELONGS To SET L P

WHAT BELoNGS TO SETM 7P

WHiCH CLOMPANIES MAKE BOTH LARS
% MOTORCYLLES 7

U = VEHICLES MHisisTHET_ ______ ____ SET
WHY i5 BMX ovISiPE THE CIRCLES P

: - - — AND FINALLY, .
4D = 83
B -l b} T-{ b T-{_ } V-{ }
TINTERSELTION = ( } INTERSELTioN = § ]

24



SiMpLY ALUEBRAS
O+ O+ & =

| AFPPLE ANP 1APPLE ANp | APFLE . .-

... YoV HAVE 3 APPLES
a + a t+ a = b+ b+ b + b + b =
c + ¢ + ¢ + ¢ = d+d+d+d+d+d+d+d4d=- ___
e +t e + e +e+ e + e+ 26+ e+ e +e+ et e =
2t + § = 29 + 39 = ——
6h + 3h = ______ iy + 8L =
7j +14j - ——— k+ 4k + 6k =
2l v+ 2L +2L=____ 8m + 7m = ___

o2 - @0 =@

You'NE t4oT 3 Pov4HNVTS , EAT TWO 4 You HAVE | POUGHNUT

24 - 2d- __ 3Be - 3¢ = —
I3¢p - 2p - — 69 - 249 - ___
7r - 4r - __  4s - 7s = __
8t -3t - ___ lév - Sv = ___
14x - x = ____ I1Zy - Wy =

WHAT 70 MONSTERS REAP iN
THE NEWSPAFPER ¢

= SiMPLiFY THESE EXFPRESSIONS Te FiNp THE ANSWER

H|2n *+ 4n T|lln - n
E|én + 8n ©|9n - 4n
P|4n + 5n 51150 - 7n
Cln+2n+3n Rl 32n -2n -n

10 70 14N In 5n ©6 o0 5n O 8n én 5n 4n 14n En




~YOV'VE 40T SiM PLi FY ANp. ..

OO+@e@+ +@@® = “Q?\iv"

ZAPFLES o 3 DoVaHNUTS MPFLE 5 2= POVGHNVTS. .
..YoU HAVE 3ArnES % 5 PovatiNvIS

Now WRITE THESE suMs IN A SiMFLER WAY

Zg + 34 + a + 2d = +

4at 24 + 3g+4 =

e+ 6F + 2e + 3F +

89+ 2h + 49+ 5h = +

oy + 9K + 1Zy + 17Kk = +

zt+ ¢t + 2¢v-v = "

66U - Zu + 5pnp + 1-11 = + A’flg

Ir - 2r + )12 + 8 = ¢ A
20 - Il ¥+ Tm - 2Zm = + A'ﬁe ra.

IZx— 6x + 152z -8z

“poNT M"NKEYAROUND. ~OKI

5iMFLiPy THE EXPRESSioNS BELoW ,
ANpP MATLH THEM WiTHTHE ANSWERS AT THE BoTToM
oF THE PAGE .THEN SHApE iN THE LETrER ABoVE
To PjserLesE FPRIMATE PALS,

lox + 8x
Ex +6x+2Z 4x -4 x
4x +8 + x I7x - I[{x +4
6 +3x +4x St+ilox - Z
49+ x + 2 +7x Tx - x -Zx -3x
2Zx +3 +5x tlo 4t 3x +7r+8 4
20000Co 600 (D
™ = +| W Ny = N
;+x++ " - ¥ "y:
o| SN §| & ¥ | d|wm|s @

26



TEPO 'SWBRA /

w SOME caNéﬁl’rsKTo
4c Means
be Means
C* MeANs
£  Meaxs
4
wNoW SiMFLiF)',,'aK‘
2Za.b= _____ B¢ .6r=___ 5n.n-<=
Be.4d=— bVv.v " 4q.3q- ___
€9.2h=___ Za, K 3b-= 10s. Ts=
2m.m=— __ 4e.5%-=-=___ uv.v=-___
2p.-Zp=—_ 71 .19) - B~ . Qx=_____
29 =___ ab =-___ 6tz =
lo aq z_
Z0n = ___ 1.7 = ed -
1o 3 ¢
v =_ _ 27r = _@F_ -
\Y) 3 fe
SiMPLFY THESE SUMS
EENFE. To DiSeNVER FKEV
3 FReG4"S FAVORTE.

DRINK,

¢|3v.5 L| 7v.2 o

Kl 2v . 7v R| bv. 3y
A 3

o| 48y 48v \-"
4 3v

WE‘EV? 17v* 16 I5v 1Zv IV |6 Sﬂ

27
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ﬂ m FOR. WW
ORABC T0 [2-5) °

TF A MEAL ¢osT5 $10 THEN Z MEALS CoST ¥

IFABUN cosT8 $1 ANDP A PRINK ¢o$TS $ Z ,THEN...

¢+ « TBUNS X 4 PRINKS 05T %

Sb+4d =5(_)+ 4

_J)=

WHEN WE REPLACE LETTERS BY NVMBERS, WE ARE

NOWQAIVENV L &’3,3( ;1
FINPTHE VALUE OF

v t €& = e+t X =
X t VvV = V+V+V =
v = 3¢ =
ox = 8v + | =
4e t+ 7 = 2x +5% =
3v = | = be - lo =
CROS55 NUMBER | across
— 1 3 L5y
Z Z3x +Z
Z 3 8¢
’ 46X +4
6 7 Gderz
’ % 5e +3x
L ‘ &10x - 6
94v+7
FiNALLY, 4iVEN 5-1,p - 44
sz—r= ~-P -
Zp + 3y - Zs + Zy =
s +Fy-——4pr Yy -
sl - Fal,.

s P

powN
L5v+3
z,3x — |
ylov
&50e t+ |

2 12Zv + Zx
g, 6V ~ ¢

Y A o, EVAWATE.'

6s + 5p
3y - 7s
SP-Y
A
5

1l

([T I B |



=

AT

4ivEN P=4 K=5 K=6

ANV1Ha%huyE$"‘€%Z;

A=F-3 B=K-F E-R+Z
4=2R-Q I=-Q+3 L=2F + |
M=2Q -6 N= Il - R o=3K — IZ
R=F+R 5-FQq T=QR
V=-Q(F+R) H=Q+K

...FiNp THE Q. K- MESSAGE
N

1 3 I (65 8 5 7

9 3 30 30 3 J10 20O

Z0 50 |0 3
7 3 30 Zo

[\ >®?
w;o+

29



NiFTY NUMBERS PANDY PELIMALS

7 + 8 =___ o4 + o] =
9 -1 =___ 0'3 + 03 = ___
8 x 6 =_____ o4 — o'| = ____
9 -+ 3 =__ 03 —0'3 =
6 + 5 =___ "2 + 07 =
5 — 2 = I8 — 0-7 =
4 x 7 =___ 3 x 02 =___
7 -1 =____ 2 x 04 =___
3 +9=___ 0-6 _ -2 _
9 + 4 = 2 2
RADIAL ROMANS EXTRA EXAMPLES
InNl=___ 23 + 200 = ______
V =____ 300 + 300=______
VI =___ 200 - |85 =__
X =__ 300 — |40 = _____
XI = ___ 40 X 5 = __
— = 2 q0 x |10 =
= 4 50 ~ 5 = __
= 8 [200<= 10 =
= ja 333 + 222=
= 20 943 — 345 =

THE QViNTUS QUIZ

T LEFT HOME AT
IT TOooK MINVTES To
GET TO 5¢HooL . ScHooL WENT
FOR, HOURS . SVPPER,
WAS AT TOPAY. T WAS
OUT OF BEP FOR HouR 5.,

 MONPAD -

OVTOFBEY ¢-00 a.m.
LEFTHOME 8 o0
aoT 1o s¢Hool 9 00
ScHeoL FiNizHep 3-o0
ARKIVEP HOME 400
SUPPERTIME 8-30
INToMYBED q-00

NUMBER OF MiSTAKES




(W,4

9+ 6 x2 =
6+9%x2-=
4-1 x3-
|0-3x3 =
20 —5x4 =

% ViVipE " -
BEFORE YoU A % SVBTRACT”

7x3+2 =
x5t =
20 *»2-4 =
9x2-3=

= COMPLETE THE EQUATjoNS BELOW BYV5SING +4— 4 X, =
Si4NS iN THE A Y

5/\4+8=28
48/\ 6-3=5
1+ 4/\9 =37
EOAB x 3 =56
12z0N\3/\4 =14

Jo % 3AL =32
63-:-‘7AI =6
7/8 +2 =l
76 ~10/\ 3 = 4¢

s/\4/\1 =20

WHAT COMES FiRST 7 vo THESE SUMS To FiNp

T™E ANSWER./

Al (6+3)x2 o| 7+1*6
Bl (8-4)x5 7] 6+8x3
C| 3x(4+1) Rl 49+2*+7
E| 8x(9-7) S| (1+4)*
H| 2*x5+4 T 3%+2
K| 5x3+2 W 4°-4
[IN] 6x4-5 Y| 5% ¢
702318151716 11 25 Il 1416 19 3013 1Z 16 23 25

3
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X HiYati YaHiYas

b WORK HARE ON TH; S
FAE y % FilND oVT
___WHYZI’M 5©

- > SYECHLS

O+ 25= O *1]8=
752 + 0= (4164 +0=
0+49949 = 0+23456=
‘A NUMBER. WHEN APDED TO ZERO”
64 = I5-8=_____ 406*0=
6-0= |15 - 0= Ox 5| =
194 -0 = 20132-0=__ _ OX 0-2=
8 x 4= 12 X )= 2085%x0= __
gxO-= 2% 0= O %345=
32~0= 167%x0=_____  o0%xq9:0%= _____

| ‘ANY NUMBER MuLTiPLiED By ZERO

vy

N A Y NiuaTy WEE PUZILE S

Al 9-5x0 N|l12-5+0x3

G| O+4 =2 T|5-0+3+0-4

H oxij0+2 U 9+2.x0+ 3-2

Il 20+0-14-0 Y] 6x5 *0ox4

0| 2+0+3 R| 32 2 4+:8
©“c_._ _———s
7 10 4 4 0 7 S 4 2 6 7 8 4 191 7

,’!

6 7 4 5 7 9108 2 40 7 5108 2 4

*@MM"—




2 x4+
-=Now FAiR THE SUMS BELOW THAT EQVAL

THE SAME NVMBER/
6+8 0 ol (9 +11)+1lo
I2-4 o of 16-13
155 o ol 64 +8
12 x4 o of 28 ~2
(29-7)=11 ol 6 x8
- \ RLINE
Hel ;unsan EQuALIL
S CIRUL THOSE THAT EaVAL 1.
Br4 63+ 7 L oOF8x3 (18+6)+2Z 9+3
57-45 4x3 18 -6 8+0 54 —-45
S+4 9-9 273 605 (17 +5)-12

~HOW MANY @iF FERENT NUMBERS AN Yov
MAKE V5iNG ONLY THE NUMBER 4 FovR TiMEs ) —

e
(4x4)+(4 x4) =32
3 -4+ 47‘1‘ =

33



34

SoLVING is

THE BEST soLvrioN

AN EQUATION |$

EXERCISE EASY :

P+8=q p—— 2+r4=6 g-
q+7=;o 9 Zt4 =12 2z2-
}+b=4— b: x+2=8
C-2=4 - K-1=6
b—}:d d= . m-l=4 m=
EXERcISE EXCITED:
20=/10 0% —
4b=40 ph=__
bc=18 ¢c=___ |
7d=24— cd=
fe=30 e=
TFe4e
8g=88 g-=
IOh =200 h=
91 =9 =

X
ks —

t9=10 t-
n+r9=12 9=
e-2=| e=____
r-6=2 r=_____
V—=1=19 v=

n_ _ =

3-8 1

P = |0 =

pj 4 )

r = =

T 6 r Jj[

‘% =2 §= svzy

U _ | u-=

10

WHY WoVLp YoV NEVER GO HUNGRY
IN THE DESERTT

= $OLVE THE EQVATIONS To FiNp OVT ..,

b+[7=|(, lb+e =27
2)-f=20 29-0=27
12xt =60 88+w=98
17+95=23 18 Ty=33
e-4=<5 Ixi=72
FTTwHE e
o2 4 ) 28 7 12



PRINT THE POSTERBOARDS,

EXERcISE EXTENDED : o2\ LY
y-% =9 Y=

b+l =20 p=

5-m =79 m=

23-d=8  d=

txt=100 t-

w=3=9 W=

g+9 =16 g=

r—7=28 =

12 -p =10 =

SOLVE ANy EQUATION, AND

= WRITE THE LETTER ABOVE THE CORRECT
ANSWER ON THE BOARD ,

20 +45 +V=99 902+4199+F =740 4N =184
19+55+T =197 R+226+372=6%4 q0=38%2
A +69+89=209 5Q, =95 BE =376
U +48+26=215 %ty =48 7L=4%4
100 + P+200=3%5% 21 =14 bW=294
215+ %+ 508=587 I0B+18=148
64Wq@4b b B 3 b4 ® R 16 36 46 4]

i\ gl

35



THE “ROADWISE RELAY”

5IX reams

STARTED THE
ROAPWISE RELAY,

FiNAL
BATON
CHANCGE

— RACE THROVGH ALL PVPTRAC
THE BATON CHANGES To 22

FiNp ovT WHICH TEAM

WON.

4TI AAN XO>PW MT- 2709

T

pATON
CHANGE



z
J
:
A

10 +
204 -

O ox |+

|+
A —-—cVIaoapR-—W

20 +

+ + X
nononw

W ONGBRsABLYN

S

Viscovs VA

i
]
%

T

® o
L
W

o

x

M RANPNTD
@ Q oan
JOo W NO T O
[
wW
O O
) X

-
I
|

3L - 21 It ¢

Jjrj+j = 234 — |34

W%%%ﬁﬂ

MoNEY MiXTVRES

2 x 5. =__
E; X 20¢ =

300

©
o

0

l

THE QUiINTUS Quiz

= How MANY PAYS iN FEBRVARY 7
= WHAT PAY i$ MARLH 12.th ?

[ 4
FEBRUARY
M TWTFS S
1 2 3
4 5 6 7 8 910
11 12 13 14 15 16 17
18 19 20 21 22 23 24
25 26 27 28

— WHAT PATE iSTHE SECOND THVURSDAY

OF MARCHT
= WHAT PATE i$ THE FOURTH MONpDAY
OF FEBRVARY?

*
MARCH

M TWTFS S

1.2 3
4 56 7 8 910
1112 13 14 15 16 17
18 19 20 21 22 23 24
25 26 27 28 29 30 A

- HOWMANY FRiPAY5 iN MARCHT

NUMBER OF MiSTAKES

37
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ﬂ‘l 0” 0'6 l-z
(2 0-3 02 2-32
41 3-5 415 5.6 468
2 -6 2-2 364 208 5-12
3-2 5-3 |- 14 206 2 -25
2 4 t5 2-12 5-13 £-35

—PAVE’S PiSTiNGViSHED pECIMAL. SUBTRACTION

o-3 o-9 08 3-8 q-8
-0 - | - 0-6 -0-7 -2¢ -5-4
0-87 077 o-83 257 4 68
047 -0 (|5 - 05| - 4] -3-4|
653 74 65 8- -2 lo - &
-3-53 -0-4 -0.9 -0 6 - 27
$oME FPoiNTEP
ODJ'EL'TS/ L
Clo-14+0-26 3 '2 -l 6 '3 ‘96
E . _
Alozto-l s o4toz 3 TS
P o2 -—0-| R 0°4 -0z
Nlosstoss [ 081t o0l F T mEITITE BeT e
Llo-es-033 087 = 0:09
T/ o




A —a

=

Z
O'23 072
x 2 > 4
o |6 076
x 7 X 6
713 42| 298 3266 234

X 3 x & x 7 x 8 x 9
— WHAT DID THE P04 SAY WHEN T SAT
ON THE SANPPAPER ¢
. SHADE TN ALL-
X[4 11 [ o278 e |3 | fig iypsmres To
3 rLTL-z 06|18 27|24 |1-8|9 |15 FIND ouT 4
(yov sHovp FiNp

2 -5 |-0€ 04 (012 A5 \1-¢ |12 ’5 -7 30 M,éTAKEs)
4| 16 | r04| 08| 0¥ 361 32| 29| 12|02 ——
g | 26|08 -1 08| -7 |64 5 |-2¢] 24
5|4 los |1 |e3|4s|4 [o3] 15|25
6 |30 |-6|12|36|55 |48
2 /-2 ‘2 ’q— /2 M /6
g |28 [07]|/8|57 /| 72
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—= TONNES OF TENS —

E-o04xlo= 9-765 % 1000 = 741+ 100 =
O -&64x|lo= O 971000 = 790( =~ o0 =
8914 x 100 = o4~ o= 480 | = 1000 =
O -BA4x 100 = 8o4 — o= 4088 —lopo=
O-8*100= 084 ~(o0= 07 + looco=
WHY WERE THE $TVPENT ANP THE WiTeH
SMiLiNG 7
LiNE UP EACH SUM WITH iTS cORRECT SoLVTioN TO FiND
THE ANSWER S
5-¢ %00 *~____ ¢ 5'C
O056xloocoo e @‘{%\ e 0 0050 -
560= 10 e @ TTT~e 5o (s oREY 7;
56+ 1000 * ¢ 3-12_
Sex (000 @ ® ) ¢ 312
00056 x |o 'S @ @ 0 Soo0
56000 (0000 o & 0000322
56 < 100 ® 0 0-003|2
0'56% (000 00D ° @ @ @ e 0 050
3)-2x (000 o @ 0 31200
>iuz=100 e @ (A) o 320
00032~ |0 . ¢ So
3'|Zx |eo 00O g@ @® ® O S5Sp
D'0BZX% [0O 0@ @ @ o O-O}IL
3120~ 1000000 @ e 32|-2
Zlzo0=< 1000 & @@ @ ¢ 22000
0-3(22%10000 o e 56 000
3120~ |0 . e 560 000
& |7 (8 |9 i |1e

lILF‘r’—

/0 ll/ 1z E

/

/7j6

pi? YoU7

NoW WRIiTE THESE NUMBERS USiNG WoRDS .

560

3124
87 -9

70028




206 1:87 q9-58 872 1685
+7-18 +0-59 +769 -31¢4 -u-58
55 5-3 4-z 24 6
X Z X 7 x 3 x 5 x 5
4)848 ©)é67z g8llo56 10)39-7 12)26-472
256 43-8 397 93 -25 75 64
-17 ' 4 -27°9 -32'5 +58:89 +38°36
NOW PO THESE SUMS T0 DiscoVER A
FAMas PECIMAL YEAR IN N.Z .7
30-835 V] $1-38 [Elg2-75 X1 434
+ 067 + 0 ‘62 - | -35 - 276
$0-32 1T #1.25 [E N
x 5 x 4 7)%$2-80 ¢)3$l0-80
TATE TS A ATE Terews 5 e A Z 478

( WHY WAS iT $0 TMPORTANT 7 )

4



3¢614°57 3594 07 510-234 |48 -675
+ 1248 68 + 1483 56 +6¢67-98 | +728 149

1959-635 t+ 81254 +70:26 + 319 =

42 65 95134 73 589 6 050
-2 °88% —290:25 ~ |14 983 — ) 123

195963~ 81254 - 70-2¢ - 3°19~=

13/39-52 20)86 420 0'6)2'4-6 l'5)607'65

WHAT’S HAPPENED To PAVE Now?
B ————

(L4

1125275 9102 23 -075

-1'82¢6 0 I'4 22) -I'5 05
’”

1:75 o2 =125 06 05 11 '

=HERE DWELLS PASTARDLY
PAVE PECIMAL,PVOoBBED IN FOR
PAMAGING ¢LASSiFIEP PECIMALS,

I EAL EE PER N M HB FPEM VE
RN
2 -l o | 2 3



NiFTY NUMBERS
4+5=_

6-1=____
Sx4=___
3:0=_
6+2=__
7-5-__
3x3-__
Br4=-__
5+ 5=

7+6=__

SOFT SVBSTIiTVTES

]
W
D
+
U

|

[} ||

S-SR VNN®R
AWW-oh oo
TR 0

R
L BN ST I A Y

O

“~ eTO o oo
.c'-

THE QViNTVS Quiz

—F|NV THEMﬁT FUKo 'y

Z FARENTS oNLYy
| FARENT £ ) LHIiLD

ZFARENTS A 2.LHILPREN
| PARENT % 3 cHjLPREN
4 FARENTS % 2-LHILPDREN

NUMBER OF MiSTAKES

EXTRA EXAMPLES

é ADPED TO 27 1S
3 TiMEs |8 s

$4:50+ $625=__
$580+ $7-80-=
462 =400+ +2Z
500+ 20+ 6 =
2l0 +123 =
157+ 225
240 —-130
) 88 - 66

e

———

43
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*035 50"14' $0'75 _fp—qz *044_
+0°12 +0-46 to-15 —0-07 -92-29

$ 276 $1-719 $4 -3¢ $70 $8 26
+ 2-34 +0-81 - 2.4 -~ 5-35 -1-9e6

==FiNpP THE COST OF :

A4 MATS AT $7-25 EACH 2 COTS AT $82-95 EACH
é HATS AT $15-Q0EACH 900 poTs AT 30 EAcCH
10 RATS AT $ 165 EALH B LOoTs AT $5420 EAcH
B BATS AT$4498-90EACH 5 PoT5 AT $ 4850 EAcH
w= HOW MUCH CHANGE FROM :

%10 WHEN You SPEND 46 -80
$ 10 WHEN You Buy Z PENS AT $1°35 EAZH
$ 20 WHEN You SPENP $11°30
$ 20 WHEN You BVY 5 piscs AT $2-75 EAcrl
4 50 WHEN You BUY 3 BoOKS AT $1°40,%1:60, 4180, 3 covERS
AT 70 EAcH AND 4 FELT TiP5 AT $3-20 EACH,

42876 $ 85 74 $¢9-498 $75-34 %4370
+10-79 + 23 46 -16-88 =-32'99 -219-90

ANSWER To THE NEAREST POLLAR

$3.20+44¢o0=___$735+t$5o05 =~
$2.85+4%]| 20~ $290+ $ 2-80=

$9-60 -$875=~_____ %625 ~$395~__
$24.35- %1250~ ___ %1780 ~§9-20~____




FRACTIGN=MAN

How much is shaded? Write the letter from each body
part above the corresponding fraction.

7 |
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FiLll iN THE 4APS To MAKE SoME
' EQUIVALENT FRACTIONS/
1 =__ l=-_  7Z___ 1__ 32 ___
2 6 4 1z lo zo0 5 ) 4 4o
Z = __ 4 - __ 5 =___ 1z _ __ Z - __
2 9 5 zo 8 40 |16 4 8 4
8= =5 2£6-5 4a=1 =7
2z 3 16 30 18 30
2 6 24 4 1z 20
8 —__=_ =32 S =_ =I15=
e &5 20 8 16 40
~NoW SiMPLIFY THESE FRACTIONS To MAKE THEM AS SMALL
As YW CANS
£ = 14 = 20 = zl - IZ -
1o 26 3 z4 48
SHAPDE iN EACH 35|36
goX WHicH =1
”NmINSA (4 [T
FRACTION THAT a. |5
i$ EQUIVALENT 20 12
To THE FRAcTioN | £ =
AT THE BoTToM

N
N
S| (315 [YIs [9f8 (SR |~k KR (S MR | SIS

[ AR [ B (RIS o> B @ S

L B Al L
g\".n 'ﬁ'w '_:Io. Rl-h il: -&l-k Rl\r\ "&'3 NIN §|\l

S

+wl 9= [aB NF R R (3 [al AR R R | SI

\Y\lN




I~
n
\ CTTTT oM ‘
) .\ o "~
’ x.../ _N/W/////////%//% 2/;
@t
\ \ ._.-._f.” \ ?u N
. v .
N I W
m.. L R
d MW H
= In
K 1]
LT -
Il +
U o %z?
Aﬂﬂwé‘mw¢7%¢ (4
+ % x ot vN: |
: A ™)
\ A t N
N /// / ._ % IT_- W )
L.. 1’3
N +
> W

we Mo o
+ | \
92 9o "
[\
de 4o WD ¢
+ l + W
HO ¢o o2 o
L)
. =
o Nw ¥ .1.7
v \ + Q
wWo W o9 W

N e
+ +
NW - N
/. u u
e ‘ L
|
e
|
T i un
+ |
3—5 ¥ i~
| ol " 1
Wy T E
H~
<IN
A\ Wy
1 L \
N4 dn Ny
I I
W M

W

o

WS

N

U
I
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“COME FiNy MY PLAcg /™

START BY WKRITiNa THE Mis5iN4 NVMBERS AND

o e e o Y o o

L

1 1 [ % [ % [ 7

HERE ARE sOME FAIRS oF LETTERS AND NVMBERS .
WRITE E/ct LETTER ABoVE THE NVMBER LINE AT
IT$ cORRECLT PosSITIiON AND A SPECIAL MESSAGE Wikl

AFPEAR /7
AS M -2% vV £ ¢ 4%
S 2% E 75 L ¢% s
Mz4 S 5% E 1% T 24
0 5 T 6 Y2 H-
Y 3£




N -

NiFTY NUVMBERS FANTASTIC FRACLTIONS

~ tez2-
- Z OF 6 =_______
Z oF 4=__
- Z OF 20= ___
1 L
- Z X Z=__
Fus-
_ Z + L=
— P rii—
_ Z — 2= _
5 - §-

Mi4HTY METRi¢S EXTRA EXAMPLES
60m + 50m =____ 7 PAYS = WEEK
48um + |6em=____ ____ SEcoNpS IN 1 MINVTE
87m —47m = 06+ 05 =
54mm —26mm=____ |1'8-09 =

em= Im 0°'2 % 4 =
em= 2m 04~ 2 = _
1000 ml = l 1,2 ,4, , 16
3o00oml= _____|( 238 + 832 =
1234 9= — Kqg 541 — 268 = ___
‘321 kg 2% =
THE QUiNTVUS Quiz
-~ FiND THE LO5TOF. .. “$cHooL SHep
6 PENciLS PENGiLS
3 FELT TiPs A 211‘“’ 20
2 RVLERS TiPs $2
3 PENCILS % 2 BiR0S iRo
3 FELT TiP5, 2 BiRo$S ngm éﬂr‘f‘

& 2. RVLERS

NUMBER OF MiSTAKES

75,




AN INTRopPVCTIiON TO PEGREES

50

= MEASURE THE AN4LES
ONTHIS PAGE CARERVLLY
AND WRITE THE LETTERS
ABOVE THE ¢coRRECT
ANSWER. TN THE MESAGE
BELow/

L

X 120 30 Bo 703050

ac 1.0 ?

;5-;)_’-20 95 160 (%0

— p— — —

;r; 150 5 220 |20 20




- 7 (PoN'T WORRY, THI$ Fral
jN THE Lo £ ( WON’T SELT —75977?*127' 7)

5
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=CHOOSE THEANGLE SiZE THAT i5 THE
BEST ESTIMATE of THE ANGLE AND
MATEH VP THE LETTER OF THE ANGLE WiTH
THE ANSWERS iN THE PVZZLE /

é0 oR 120 0 oR 300
A
>\ y

T o K

oR

170 100 oR 8o
2/0 oR 5’0\ Bo eRr loo

e i -
v N 180 R © gf
4-

o
4
Q\ B0 ok 150
200 cR 6o
P 30 0r 150

45 orR.70
1-5'0 oR |10
270 oR 300

7.70 oR q0 (}
CJ C\ T30 o) 360

‘Iomzw

«

200 O bo ZIoqo 200 O 6o 23602-5' o [1ge go loo [18e %00 |0

0 4545 60 270 qo0 o 182 150 45 90 8@ 270 3oco |0

i

_325;0 l6o 3oo 1S5 zo0 90 o go 15 3o 90 IS~ z8o




MEASURING ANGLES

ESTIMATE MEANS
WE MEASURE ANALE SIZE WiTH A

—

y?

ESTIMATE THE SI1ZE
OF EALH ANGLLE AND
WRITE YoUR 4VESSES
IN THE TABLE.

THE TABLE .

(2 ASK vour TERCHER For,
A THEN MEASURE

EALH ANGLE cAREFVLLY I

REcoRp EAL MEASVRE [N

N\

ESTIMATE | MEASURE

——
BN}

/

———

{l

N

<

SIS v |wx < v |x|e|wn |aln |w

LQ\

Q

F\&w

— /7

P

7
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PRAWINA ANAGLES. .. is LiKE, EXCELLENT FUN /

YoU HAVE LEARNT To vsE A PROTRACTOR To MEASURE ANGLLES.
I chAN ALSo BE vsEP To HELP Yyou ZRAW ANGLES.

@ PLACE YoUR PROTRACTOR
ON AB A% SHOWN 2 s ooy "
(LENTRE on B) BEX > NG
£ 0UNT FRoM O cLockWisE z
To 407, % MARK IT. ..
(B Rémove youR PROTRACTOR. £
PRAW THE RAY BC. A = B
THEN £ABC =40". NOW MAKE % EXAcT coPiES.

[

A B A B A B
AT D DRAW AN WNGLE oF 200 AT EpRAWAN ANGLE of 70" AT c4 AN ANGLE oF 90°

—d » -
’ —

c 2 E F 4 H
AT I PRAW AN ANGLE oF 1{ AT K AN ANGLE of 100° AT M AN ANGLE OF |50

(4

B 3 b -
- Ly \

I 7 K L M N
VRAWiNG TRIANGLES :
AT T gRAW AN ANGLE OF 30°, AT U ZR4W 4N ANGLE oF 120,
AT Y PRAW AN aN4LE OF 5D AT V OR4W AN ANGLE oF 10°,
JoiN AT R To MAKE ATRY, Joiv AT L To MAKE AL VYV,




AKE WE THE RIiGHT TYPES 7/
PRAW 3 OBTUSE ANaLES

Fﬂﬁfﬁ ARE "' , PRAW Z sTRAiIGHT ANALES
THESE ARE A PRAW 3 REFLEX ANGLEZ
[ =
THESE ARE O PRAW 2 AUTE ANGLES
//_D\
/O\ |
THESEARE R PRAW 2 RiGHT ANGLES
A
—— oW E Mi$5ING We
LLIN THE Mi$51 oRp
e i e 3iat e s/
| “sivpy
O - - T =

‘ WHILHARE ALVTE 7 | WHidH ARE REFLEX T | WHIEH ARE oBTusE 7| wHiLH ARE RAHT?|

NS Ll

—
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NiFTY NUMBERS EASY EQUATIONS

5rlo =____ )4+8 = ___ 5+__ =9
18-9 = ___ 19-6 = ___
I5-12=____ ISt12=
37+12= 40+t =
2x|| = 32-8 =___
25+8=____ 54%6=___
6X40 = 22x2=__
157 = I5*x3 =_
48+ 8=_ 9qx9q =
I5+5 = 12 %12 = __
CLALENPAR ¢oLLECTiONS

How MANY PAYS iN MAY?

HOW MANY MONPAYS IN FEBRUARY?

WHAT PAY WAS 3lst JAN\IAKY_?

How MANY ScHcoL PAYS IN JUNE 7 ~ FiND THE ¢oST OF ¢

Z APPLES
WHAT PATE i5 THE LAST FRIPAY 3 ORANGES
IN MAYT. 3 BANANAS AND A FEAR
How MANY PAYS iN OCTOBER &
NOVEMBER. 7 = WHAT 4 THE cHANGE FROM
How MANY PAYS To THE NEXT %10 iF T Bvy:
HoUPAY 7 10 APPLES
How MANY PAYS IN A YEAR? |2Z- ORANGES ANP A PEAR,

10 BANANAS AND AN AFFLE

NUMBER OF MiSTAKES




ANIMAL ANGLES

FiND THE UNKNOWN ANGLES To soLVE THE RipoLes/
Do NOT MEASWRE

How Po YoU MAKE A BEAR RUN 7

¢ , ’

105 24 72 70 I4| 3+ 2043 9% Wl 20 Zo 43 50 122’

4
\ S
e 2 oY
- 70

o = 37 66
58" E : T A
47 .
Y M
|
WHA’I‘ GLAME D0 HORSES PLAY 2
’J
?7_ 8o ¥ 13 oo 55 go 55 %3570'7—7
] 8 125 °
s P T £
N
WHAT i5 4REY, WEI4HS A TONNE , % HAS Two WHEELZ P
« ,b
¢o 48 1Hoto 28 5o 5028 o 4260 69 57 &1 6113 6
X7
[Blrrzi-az v 23 ()
[elzezs=ni Hevze =
IEIFAIWHO: THENZL (2= 23 9 \ /o
[ElIF23=67"THENL 4~ ____ /f /z-y*

[RIIFL7=98"TMEN £5=

[N IF 22 =152 THEN £ = cb0%LB6O THEN LT =
(Bl IFL2 164 THENL | = [Q]IF£B8-B0Kk 950" THEN L3>
IFLI=57"THENLAG= ___  [AIIFL9=100°k L340 THEN LB =

57



= PAKA;KEAL:F UN— ANaLEs & LINES

A B R

c ANGLES T ANGLES A ANGLES
ARE EQUAL SUM To 180 ARE EAQVAL

WRITE iN ALl THE ANGLE MEASURES / / J
‘ 97

o v\ g

* /
) /05\"\ ) .
r A60° s\ # [" H [”

¢ /5 7 \
FiNp THE UNKNOWN ANGLES
/ |
//uo /k ﬁ} /5‘,'\(".\ V
/UJ J= /'/’7" S / L=__ < __\_
NN \ 54°
7n6: - | 55’ ’z‘; -F 9 \
o - - 4 ——

- —_ ‘—__-—— — — — ———
— —-—_—’___—__ —_— -

80 110" 65° 85 1% 45 20 55" Bo |30 70 80" 45" 20" 12520 ”5'

a— — — —— __—-_——*‘.—_—
— — — __. ____

50 2620 8D" 50 100 55" 80 ?510 160’ 70 115" 70° 85 8520  85°

A 100° 1‘
135
. H 160°
L



ROTATION
STOVE WHAT TEMPERATVRE WOULD YoUR, STOVE
BE SET To WiTH THESE ROTATiONS @

N START AT ‘0OFF’ EACH TiME
HitH - @ LW 40° LLocKWISE

N 174 180° ANTicLockWisSE

MEPIVN 2.70° cLOcKWiSE

360 cLOocKWISE
I RoN How MANY PELREES TO SET YouR IRON

. FROM :
Ny @ o HINEK OFF To Wool-
OFF To UNEN
suk® o omoN ¢O0TroN To 5iLKK
o NYLON To LUNEN

WooL

NAME THE TOWNS.THE ARROW iN THE MiPDLE OF
PROTRACTARVA |5 WHERE Yo SHOULD START MEASURING

5 oermise EAcH TiME/
IBO:u_oucwasE ‘__‘i’:"’v/\:?mw
270 cLOCKWISE GEOMARY N )
30" ANTicLOLKWISE ° =
160° CLOLKWISE | T
40" ANTicLOCKWISE .
SYMMERSON
=" =
PROTRACIARUA
ISMND B ’MAfHMATDE
Eaﬁ:"izoiﬁgﬁyl, RERLETATY o)
p 4

BESIDE EAct PiAGRAM WRITE THE ORPER oF 5YMMETRY

59



€0

W 30N - YoV'LL NEED A MiRROR. FoR. THIS PAGE S

g
EFZ

E
/,g_/’-

1111711l !

TMERRY 4 7

RMAS | |/

To YoV ALk 47 oy

WHAT WOULD THE WiNpowW LooK LiKE
FROM THE OTHER. SIDE?

COMFLETE THE SHAPES

Now VSE A MiRRoR ONTHiS SHAPE sk
To MAKE THE SHAPES BELOW 3

@ - B G
d 4

H
[¢]
COMPLETE THE REFLECTiON ! @




SYMMETRY

MARK. IN THE LINES of SYMMETRY/?

AN A M
A

CALLULATE THE Mis5iNa ANGLES

50

|
|
|
[
|
|
|
I
|
|

x = a=
Y= b=
z= = L=

COMPLETE THE Fi4URES AROUNP
EACH LINE oF SYMMETRY To ANBWER THE copE /

al @L_J 2]

1= A S
N = 17 =
BN B | @
1 "§> : NN
“ ¢ & _R_ 4a__s
Z 8 4 5 6 I z 6 3
ER_Z_N E »

Z —Z 27 él
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NiFTY NUMBERS
17+19 = —_ 20+5 = ___
I3+15 =____ )49 =___
20-19=____ |18t6 = ___
47+9 =__ 2715 = ___
7+45 =___ 3x30 = _
24x5 = 39 <3=___
8x|5= ____ |12+29=____
42+6 =__ |6x2 =
IO0x30=___ 46~2 =
28-17=___ 250-50=____

PARTS ~FiNp THE scores
FOR, EACH FERSON P

NAME SCORES TOTAL

HiNE 5.4.2%20

MARY 9,9,

JAMES POVBLE &, 20, 20

Mi KE TRIiPLE 12,18 y 4

ESTHER, |POVBLE 6,IRIFLE4S.3

LYNDA |povBlLE 17,15 ,10

CRAIY 8,111,114

TALA  |19,p006LE 3,6 |

WHO $CREP THE Hi4HEST ¢

MAGC [

7
Z

-0

NUMBER OF MiSTAKES

W .

WOoRpY WHIMS

SUBTRAAT 9FROMI1Z
SHARE $30BETWEEN 6
WRITE TwO THOVSANP
24 SUBTRACT |5

ToTAL OF 9 ,4,AND S

4 FiVES

8 MORE THAN 7

DiFFERENCE BETWEEN A %12 ___
HALF OF 60

AT NooN IT*S__ o0cLock
RELATIVE RELATiIONS

7.

NN

NN
NN

Ll

EAZH ROWAPDS UP TO

EALH LOLYMN ApDS VP TO

EACH ViAWONAL ADDS vF TO g
4 <

NN

N




PAWKY PERCENTASGE PAGE

2l = __ 7 327=__% 43 - __ 7 59 -=__ %
(oo |JoO | 6O | o0

q4 = Z é5=‘__ 70 éé - __—Z = ——‘/a
|oo | 0O |00 Jeo

) = = °/° q = = 79 S =——7o
|o |00 |O 100 25 leo
= = ’/. ﬁ - - ’/. = ___-'—____,7,

20 loo 20 oo 50 l1o0

WHAT PERCENTAGE i5 SHADEPT
o B m
N

5HAPE iN 'mz GiVEN I’ER&EM'
3347 7017 40% (0% 8o’

PERCY Pia PERENTAGE PUZZLES/

How Do You KNow WHEN YoU'RE AT PEReY'S P 2

— — — — — — — e — — — — — — —  w—

g 495 38 .8 65849436 5670 B84 285617 709 20
WHAT poEs THE VET4IVE PEReY FoR His soREs ¢

70 74 55 38 7456 52 8055 38529

4"/7-=_,Z T2-_% Pz-_7% C32t=_7 )’z—. =7
oo

leo Z5 (oo

S Z2=-_17 K_é; 7% MiL=_7 L13-_7 Hﬂ=_%
|O 2o

Ni3=_7 Az =_7% E1-__7 T 18=_7, 03Z2=_7
z5 2= 50 50 2o

63



19% =0— 60%=

5
oa"__ y A ZB’/,=0-__ 25% =
63 /o =5 40 /; oo T
°0= o = =_ 6’ =0-____ °0=
8!/75;504 el 5¢6%=0 8 7
% = 7500’_—=_— 44’0/0=0‘_ 5% =
99% — /c oo 7
7% = e5%h=_=__ | 10%=0-__ 1507=
|00 JoO 20
T MPORTANT ELEPHANT TNFORMATION/

To UNCOVER. SOME IMPORTANT FACTS ABOVT ELEPHANTS »
EACH LETTER BELOW NEED5 A LoNVERSION

B-30% [€]-23% (K|-8% [M)=90% [R]=35% [W]=577% [H|-16%
Pl-41% [Z)-147 [T) =500t [6]-28% [0]=353%S |-31 7 () -50
L (=117 E=607, .E=4OZ[E=lziZi—[=zoa‘/,E=55§'/, Fl=747
WHAT po YoV GIVE To SicK. ELEFPHANTS?

Zz zZ z L 2 Z 5 1L IL § <14 5 Z -3
* %% 3 2154'3’5%-oo5 It =5 Z, -3l

How Do YyoU MAKE AN ELEPHANT FLY 7

— — — — — — e — — — —

3T 2 7 Z 595 72 & 3 57 L ] 7 5 -
alz%zza 5752.%55_ Z 57 4 ;1552.2_05’ 4 5

WHY DiD THE LAPY ELEPHANT $TOP TAP PANCING?

— — a— — — —— c— — — — c— — c— — — ——— — e

. . . L 4 . .
3!;15535_755,%,{{,—05'623 2-%5 3!5-{52%5

WHAT Do You ZET iF YouU cRosS A KANGAROO % ELERANT?

— — — — N — — p— — i — — — — — — — — — — — s



Am i;i 5 ® L AwcATiME,

3 = 7, 13 | = ", I = %
10 |oo 50 50
| = o/o q = O/o ' = % i‘-’ ./o
20 20 25 25

16 %o=0__35%=0'_ 42%=-0_ B1%=0
6Yf=0__5%=0__ 2%=0__ 17%=0-___

PROF;T is
COoST PRIiCE $£4 %9 $15 $60 | $80
% FPROFiT 50% 50% 100 % 25 % 10%
REAL PROFiT
SELL PRIiCE

534 UNITS USEP.
CoST PER UNIT
b 15 6 cants
ELECRIC ALLOUNT =4
+125%45T-%4
FiNALBiLL=%
50. |40, |100.|200.

K N|457%| 30%
o

of$75

65
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NiFTY NUMBERS
8 + 3 =
8 -3 =___
4 x 7 =__
2~ 4 =
7 +9 =
1] - 5 =
6 X 6 =
q ~ ] =
7 — 0=
+ - 4=__
RAPDICAL ROMANS
Im=__
v -__
vVl =
IX =_
XV =_
=5
4 = 10
N = 13
8 = 2]
= 25

THE QViNTUS QUIZ

I LEFT HOME AT
IT TooK MiNVTES To

GET TO 5¢HOOL . SCHooL WENT

HOURS . SVPPER.
TOPAY . T WAS

FoR,
WAS AT
OUT OF BEP FOK

NUMBER OF MiSTAKES

HouRS.

PANDY DELIMALS
0% + 02 =
0'4 + 0°'4 = _
0'5 — o2 =
04— 0-4 =

I°'3 + 0°6 =
("9 — 0'6 =

4 x 0| =____

5 x 0°3 =
06=-__  J2-_
3 3
EXTRA EXAMPLES
32| + 200 =____
400 + 400 =
300 - 165 =
400 — Jz0 =___
60 x £ =

28 x |0 = ___
70 = 7 = _____
|00 = 10 =

444 + 555 =___
651 — 156 = _____

- TUE$PA% -

OVUTCOFBEP 7°:00 Gm.
LEFTHOME g-30

ao To ScHool. 9 -00
scHeol FiNisHep 400
ARRIVEP HOME 4-2.0
SUPPERTIME 8 ‘45
INToMYBED [|'00




QRUOTE - A- BiLL QUANTITIES
A PiscouUNT i$

SHop PrRicE = $ 60
PiscouNT = (0% Héo

Vo THE LALLULATIONS To cOMPLETE THIS TABLE /

‘am o erice D, [T [ Bk (e ey 10
7% piscounT 20% | 267 | 102 |30% | 5% |407
AMoYNT OF PiscouNT
SALE PRICE
G.5.T. i5
FHONE RENTAL- =% 30 GAS AccOUNT =% 13
Tow Ac«ouNT = % 18 SERVILE FEE - %_’7

TOTAL- _ ToTAL- S

TI257%645T. <4 — r25% 65T = ¥ ___
FivAL BiLL ~F FiNAL BiLL =%

LOMPLETE THE TABLE To UNLOVER. 4 SAD QUOTE £

ACCOONT | 16o | 562|929 | BOc |$32-| 72 |$40 |48

+1257%6.57. S A v L K & M G
[rome siLL el 1| ®| wv| E| of T| N

) ,"

— - e — e e - m— e e g — e - e qum — — — -— e

813327 ¢39718(0745638|11 57432 5617132 (18 496245
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— MORE ON PERCENT —

LANA 40T 40 MARKS ouT of BO.SHE s.0RED 7,
QANA 0T 37 MARKS oVTOF 50.SHE <«<oREP 7
51TV ¢oT 19 MARKS ouT OF 25.5HE scoREP %o
FiTu GoT 8 MARKS ouT of 10 .5HE scoRED %

WHOSE RESULT WAS THE BEST 7

ANNA KEPT A RECORP oF HER EARNINGS AND
SAVINAS FOR THE 5 WEEKS SHE WOoRKEP.
COMPLETE HER TAB[= /

wWeeKk |

week Z- |Week 3

WEEK 4 |WEEK S

EARNINGS $ 100 4 90 $120 |#% 80 $150
SAVINGS 4+ 48 $ 45 %66 $ 32 % ¢o
% SAVEP —_— — —
Now LINE VP EACH SUM WiTH iT$ ¢oRRELT ANSWER TO
40MFLE1‘E 1‘HE SENTEME 7
WHAT 7, 19 30 oF 60
WHAr',fséonoo ‘‘‘‘‘ . lo
WHAT ;0 (% 5oF25 ® ‘ T 50 (meg R
WHAT 715 90F 90 @ @ * 72
WHAT % 15 14 oF 280 ¢ @ ¢ 35
WHAT %, |15 ZoF l6 *® @ @ 0 40
WHAT % 15 1Z0F 46 & ® (pO
WHAT % 153 0F 120 & @ * 82
WHAT %0 15 2| oOF 70 ® @ * (25
WHaT %15 4 0F 490 ¢ (17) ‘ 1=
FIND l0Ys 0F 950 @ @ * gl
FINp 207 of 500 @ ¢ 20
FINP 25% OoF 300 ® 8@ * 25
FINP 407 oF |BD 0 * 95
FIND 50 7, of |64 ’ ¢® qo0
FIND 60 % oF 150 ® ®@ .@ ¢ 75
FIND 75% oF (06 ® s 5
FIND 1007 OF 35 ¢ 30

THE $AW-DocToR'S JOURNEY INTO AFRIZA WAS TO...
L [>[3]+|5)¢e (7 |&]|q Jte | [12]|17 |4 7 116

I |le |1




WHEE K ey

MONEY MIXTURES

0 + 20. =
20c + 50, =

200 + 145 =

300 + 400
200 -
loo - 63
60 x 2 =
70 x 3 =
40 - 4 =
5@ ~ 10 =

1o =

NiFTY NUMBERS
3 + 2 =__
10— 5 =
4 x 1 =
qQ - 3 =__
6 + 4=___
6 — 7 =___
5 x 5 =
6 ~ 2=
7 — 4 =
9 - 3 =

Viscovs VARIABLES
k + k =
v -1 =____
3m + m=____
on * 2n=
‘3]-? + 3F=_
52 gr‘-‘
2s + 2s=__
t+trt =__
Su -~ 3u=

THE QViNTVUS QUiZ

= How MANY PAYS iN MAY Z.

~ WHAT PAY iS APRIL 2%rd ?

- WHAT PATE iSTHE FiRST WEPNESpPAY

OF MAY?2

« WHAT PATE 1S THE THIRD SUNPAY OF

APRIL?

= How MANY TUESDAYSIN APRiL?

S S
S 6 7
86 910 11 12 13 14
15 16 17 18 19 20 21
22 23 24 25 26 27 28
29 30

L]

MAY
M TWTFSS

1.2 3 45
6 7 8 910 11 12
13 14 15 16 17 16 19
20 21 22 23 24 25 26
27 28 29 30 31

NUMBER OF MiSTAKES
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iz f)
\ |
[Lr ][]
) [
‘ i
BE THE 4kiD
ToAENLAR‘vE
TANEY e
e = NoW VSE THE 4Rip
/ ™\ To MAKE Suzy

70



TRANSLATIONS

TRANSLATE 4 uNiTSTo THE LEFT.

A

{ \ TRANSLATE

@ 2 UNITS
DOWN .

TRANSLATE Z UNITS To THE RiGHT .

7 O

TRANSLATE 2 VNITS UP X
PKOF EF'T'E5 FilL IN ALL THE GAFS/ ZUNITS Ri4HT.

TRANSLATION | HOW po WE poes THE
po iT? S(2ZE LHANGE? :%%E 1 v %VEO;NT’
REFLELTION
ROTATION
TRANSLATION

ENLARGEMENT]




FATTERNS ViSiNG ‘TRANSS

72

— TRANSLATE

TRANSLATE

TRANSLATE

TRANSLATE

RoTATE 90°

ROTATE 90°

RoTATE 40°

ROTATE 90°

t

»~FLL iN EAI4RiDY

REFLECT
4
»

REFLECT

REFLECLT

REFLECT




TiME TO TRANSFoRM/

[LIORAW THE REFLECTIONS OF THESE SHAPES. .
DU
m
\
(2] ROTATE THE SHAFE (2 ROTATE THE SHAPE 180°

CLOLKWISE 90°ABOVT A. ABovT B.

TRANSFORM AN
4 UNITS To Q
THE LEFT. ANNE

[5] ENLARGE THE SHAPE 50 (€] ENLARAE THE SHAPE
iT is 2 TiMES BIGGER . $0 1T 15 ZTIMES BI4GER .
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_ 4 x| =_____
- 4 x 2=__
6 X 8=___ 4+ x 3=__
T+ 4= ¢ x__=16é
7 + 2= 4 x___ =20
g-3=_ 4 x___ =32
X 5=__ 4 x99 =___
6 - 3=_______ 4 x10=____ ;ﬁ IO
q9 — 7= 4 x__ =48 T—L
S —=l=____ 4-x_=6o

SUBSTITVTES EXTRA EXAMPLES

SOFT
k=7, K+3=__ 32 AppEp To 915
(=8, Lrill=___ I3 TIMES 5 15
m=4, m-2=___ $5-490 +$2-55=___
n=9, n-5=___ $8-65+%5970=__
p=2, B+tp=___ 829=___+20+9
r=3, 7-r=___ 700 t40+ 3 =
s =5, Bs= 230+ |42 =
t=6, 3b-= 175 +25) = _____
u=1, 5u= 250 - 140 =
v=Ilo, bv= 177 - 33 = _______
THE QViNTVS QUIZ

=FiNp THE Co5T FoR .. -
Z FARENTS oNLY
3 FARENTS % | STUPENT
| PARENT% | ViSiTOR,
| FARENT % 5 STUDENT.S
2 FPARENTS & 2 ViSiToRS

NUMBER oF MiSTAKES




29 11 1

30 |0
237 'l
e 12
21 313

]
I8 (7 16

—
J0iN THE Bk NVMEERS
ToTHE 5AME LTTLE
NUMBERS To £OMPLETE
THE DESIGNT | 725
%t NEED ooy . G
Yz&:P:To HEL? Yov 7

al~ =

75



UTA +,—, X oR = 5IGN N EA TO MAKE
Y THE EQUATIONS CORRECT 7  C

5 0(3+45)=13 9-9=808 t+2 O3=9
o3 (zx5)=|  (6+8=803 I5x6 (13=30
360(4x3)=18 8+6=7001 (xs Q322
7 0012-6)=3  3c+4=702Z 7¢8 O7=10
1220(8 +2)=48 3x (0=615 2x 4 122294

CR0s5 NUMBER VZILE —

ONN60| <[ 10l =| | +[66] | [=]72]~|8 ;

+ U+ /%x -~ + X @ : _
' = =7 = 6|+ 2
7 = = ',/-,ifz

= :(////X = 74

|8)+ = 8 -

X = = =
9 |+ |42\ — = 8 + =19

— = +|5|= #o| - =
- + =W+

-12]= =18]|-= +|7|=
+ = = = =

|2t 490! | +|s0| + = L)

F| =13\ [+ |21]- 561+161~] |-
CHRIS = B | =] [+ N =
RO3 4|+ =22 j+1|2|7 | = P o

)W% - a\E -



' <
' 34

START AT | WiTH THE WTTLE NUMBERS, ANP T0iN EAH
NUMBER To iTS DovBLE,2q JOIN | WiTH 2, 2 wiTH¢
ZWiTH &6 ele . Now REPEAT WiTH THE Bia NVMBERS.
COLOUR. YOVR DESIGN . IT i$ CALED A cARPpioip I

7



T AMPUTATION LHALLENGE.

$250 T INVEST.  How MucH pO you Win 7
AN

“They 'Re ofr "

EVERY HURDLE > FINBH.
MUsT BE r;:\mep ;’4 MY FINAL
ANSWER 19:
ADQ |00 $ '
To TRY THi§ compuTaTion | ANGNER

w/ RACE FOR THE CHAMPION

< /-\
<7\“;E\ COMPUTATOR P, JUBTRACT

N - 00
answer | BE CAREFUL , IF FZOM >
ey YOV FINISH WiTH THE “NANIRER
ARE VischLiFiep,/ MuLTiPLY >

< SVBTRACT [YAND ALL youk MONEY | ANSWER

220 Goes To tve ervp [ | Y
FROM '
ANSWER

78
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|0 — O

MiGHTY METRIcS

40m + 80m =_____
37em + |7em=____
52m —32Zm =____
élmm —T5mm=____
el
L

| ¢
3
|000mg= — 9
2000m3=— g
m=5-678 km
8567 m=____km

THE QUiNTUS QUIiZ

~FiND THE C05TOF. ..
9 PENCILS

FANE‘\ST i¢ FRALTIONS

oF
oF 8
oF 16
OF 30

=

i l"l“l“l'

POV G-\ b= = - o -
S\ U1V o AT

EXTRA EMMFI-ES

__ pa¥siN 1 ForTNigHT
300 sec = MINVTES
09 +
1'3 —
0-3x 9
09 = 3
16,8, ___,
407 + 704
862 — 145
3% =

o °
d -0

| I | N [

|

n

~$cHOooL SHep

4 FELT TiPS

V\m‘"‘?ﬁa‘

6 BiRos

o ET 42

9 PENCILS % | RUELER

4 FELT TiPS 4 6 BiROS ,

£ | RULER

‘a f BiRos Zfor §
1521 RVLER
75¢

NUMBER OF MiSTAKES
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1'H‘ & PAGE FoR EAEH
OF MF

—~ KNOW MY METRICS -

THE BoTror oF
MEASVREMENT?,

How MVLH

i
| ///Mn.ﬂ%%////llll///

How FAR HAs THE BALL
TRAVELLED 7

&= t!/“iﬁ
How FAR.To THE -
H%WA«/ PARKY

- ANSWERS

1ml 4500m kg

2L 30em 16C 3ol SIT

7605 600w 1500W B0 kT 28ml 68k

50 Im 51' 200m

36005 Lkm THg 4o,

11 2tmne 75W 300kRa [Gm 40l




MYST:iCAL MEASVRE — o Nggo A wntett For 15 Pace S

@TAK& YouR PULSE. (?me Jume 25 TiMES, F NOW TAKE Your }
IT THWMPS EVERY Y PULSE AGAiN
TIME YOUR HEART /

BEATS/

Ly E e

How MANY THUMPS PoB5 YOUR PUSE MAKEEVERY MINVIE 7
THUMPS PER MINUTE

BEFORE HOFFPING
AFTER HorrinNG

NOW WAIT FOR 2 MINVTES, RELAX , THEN KE%E'MM/
, .

THUMPS PER. MiNVTE

BEFfoRE HeFPING

A FTPR HefPiN&G
WHAT HAFPENED 7
How LoNG LAN T Holp MY BREATH 7
TAKE # VEEF BREATH, HOLD IT , RELEASE,
AND RELAX.
REPEAT AFTER Z MiNVTES.
REPEAT AFER 3 MiNVTES.
<\~ T5
NN My RESUL Z —
e 1 BREATH HELD - seconds.
‘ L) 2 BREATH HELD- seconds
f ] 3 BREATH HELP - seconds
_//—\ MY BEST TIME WAS - scconds
{ZLA%s RESULTS
FASTEST PuLSE RATE - T.F.M NAME
SL0WEST PULSE RATE - T.P.M NAME
FiTTeST FERSoN - NAME

S5TRONGEST LUNGS - NAME




TiHiNG THE T. V.

24 HovR. ¢ 0cK | TIME 1.V, ONE
|0 o0 10-00  THE MUPPET 5How
» 1025 RoyAL HERITAGE
if,' ., Il-40 A4 Bi4 LOUNTRY
q‘\i‘:‘;',, 1200 1200  EN4isH s0uteR
1w | "00  NEWS REVIEW
_ | 2D EATING EARTH
1445 145 WhTDISNEY
_ 345 SUNDAY 4GRANPSTAND
605 LOUNTRY CALENTAR
g 30 6°30 NETWIRK NEWS
650 FRONTLINE
730 MrcavER
2030 B-3%0  MASTERPIBLE THEATRE
30 9-30 NETWORK NEWS
945 KouA
_ q9-50 c.V.
zZ23%0 10 30  SUNprY HORRORS
(ctosEDowN AT
L MIZNIq HT) QJ

=2
— JT Y )
MY FAVOURITE PROGRAMME (5

AND T 15 ON FoR min
HOW LoNG (5 ;

[ZIWALT e1sNEY. Min
[B14 Bi4 LoUNTRY min
(Z) 5UNDAY HORRORS min
WHICH PROGRAMME 15 THE
SHORTEST 7

Twd PRo4RAMMES ARE ON
FoR 25 minvtes. THEY ARE

X
How MANY TIMES (5 NEWS
oN TV. ONE?.
HoW MUcH TIME 1% 4IVEN

To THE NEWS? min

NOW FilL INTHE MissiNa TiMES iN THE CHART BELOW /S

24 HWR TIMES |12 HOUR TIMES | TiME iN WoRpS

B.20 am TWENTY FAST ElGHT IN THE MORN NG
1326 TWENTY-FIVE PA3T ONE IN THE APTERNoON
1120

1015 am
16 30

605 ™M
27220 TWENTY PAST TEN AT NIgHT

TEN To THK& IN THE AFTERNODN

82



NiFTY NUMBERS TELLING TABLES

l6-5 =___ 28x3 =_____ 3 x 2=___
13+15 = ____ 22%x5 = 3 x 4=___
27-9=___ 19-18 = 3 x 7T=____
98+7 =_____ 666 = ___ 3 x153=___
3x35 =___ 40x5=____ 3 x]o=___
4x23 =__ 120-90= __ 3x 6=_____
84-6=____ 56+v82=___ 3 x9q9=____ -
84 +3= 22+88 = ___ 3 x |2= 28
36 +12= Qo+5 =____ 3x 3=___
3xq90 = 27+9= 3x 8= ,2
EXTRA EXAMPLES
4 +8 =15 - 3 X = 42 + 7
J2*x 2 =])8 +__ 4 +____= 3 x 9
66 -6 =20-__ 36 - =3 x |0
j00 =5 = ¢ x___ 15 -+ =3 x|
36 +2 =19 X____ 6 x = 48
3 X5 =30+__ 2 X _ = )oo
5 x |5 =____ 42 + 47 =
23 -5 =_ 3 - 17 =
MORE Mas4il
2| |4 2 |12 158
lo 12
8
TOTAL= 15 ToTAL=30 TOTAL=3%6

NUMBER OF MiSTAKES

83



EASURING LENGTHS

ToVAY WE NEEP A RULER AND A PIECE OF STRilNg
LL THE 2YMBOLS fis. in ™E Missing worps

mm rcf;rc}cn‘le AND NVHBEKs,,
em  represents mm - 1 centimetre
m re/?rzs&n‘/’ﬁ em = L /Vlo‘fro

km ra,?resamfs m = 1 ki/omchz

‘ l{ RY MEAﬁvazf THESE 0BJecTS Aaava you /

[ DOOR
FENcaL !
PESK

Lz:vaTH L —mm LENnGTH L < 4 hs — m
WIoTH w= ——mm  HEIGHT h = 1 w. o
oV Po T MEASURE UP?
MY FERSONAL MEASUREMENT LHART —
CATE My NELI- [$
TOPAY MY HEILHT i MY WAIST ;}
MY SPAN 15 My ARM i$
My ¢HEST i5 My fooT 5
Im—‘
TRETCH MY TMA4iNATIoN /

LENGTH OF THE scHool FENZE.
LENGTH OF THE MAIN 3cHOOL BUILRING,
LENGTH OF THE FPLAYING FIELR

LENGTH OF OVR SeHooL ROAPD.
LENGTH oF NEW ZEALANP

ﬂﬂw LONG UNTiL T GO ﬁME?MBAﬁ/M’ THEE LHNES 1N

ML METRES TO F/A/Ppurf
LA e

£ I
/7

[l 255 20 30 35 30 20 30 |5 25°

¢




How 70 YOU MEASURE UP? ., .VERY WELL THANK Yo/

MEASURE THE LINE SE4MENTS iNmm. WRITE THE LETTER
ABOVE THE LoRRELT ANSWER. N THE PUZZLES To REVEAL-

TI"’E AVTHORS oFf THE 5/“/77/ 500K5-, HAVE F”A/

A P ¢ 4 E F a

""'l""I'""l“"l""l"”l“"l""'"T'l""’""l'”"""l"""""l"'rl""l""]""l""l"“l""'

em L Z 3 4 5§ 6 7 B 9 o 1
G = LENGTH OF AB=___ mm E - LENGTH oF FE = i
N : LENGTH OF 2D*____ wim L:LenuTH oF BE = mm
U’WNhTﬁoF BD-___ mm R=LENGTH oF CF=____ mm
A= LENGTH OF ZE = ___mm O - LENGTH oF BG = ___
S :LENUTH OF EF - ___mm P = LENATH OF AG = ___ vom
M: LENGTH OF LG = pom D =LENGTHOF BF = ____ mpm
Y : LENGTH 0F PF=___ mm L-LENGIH OF P4 = —_ mm
F - LENGTH OF AD=___ wmm

= BATTY BooK TATLES [f

APOLOGIZING MADE EASY

BY — — — — — — ____
6 47 3] Z| 63 16 100 6% 43 37

RiCE LROFPS oF THE WORLp

ARITHMETIZ

47 B5 47 78 48 110 llo 2|

ONE ,TWo , THREE, WALTL

BY _ . . _ _ _ _
52 78 8547 z6 |6 5Z 26 [p

85
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MEET MR.PERRY MITA] [r—sssimm®

THE DiSTANCE AROVND A SHAPE 15 CALLED TS
MEASVRE THE 51pB5 ANP FIND THE PERIMETER OF EACLH SHAPE .

A P E H T
B s G F K J
AB = mm PE = mm HL = mm
BL = mm EF = mm Il = mm
CA~= mm Fa = mm JK = mm
PERIMETER = mm ap = mm KH = mm
PERIMETER = mm PERIMETER = mm
v 2 Pq = mm
QR = mm
R~ $ RSc_____mm
ST = mm
TV = mm
VP = mm
v T PERIMETER _ —mm

WHAT 70 WE GET WHEN WE MiX A PEFPER ANP A GRATE P
LALLVL-ATE THESE PERIMETERS To FiND THE ANSWER /

o ”

—

36 > 3% 3¢ 32 2%

{

-

q
M 15
/1 4 8 6 v I3 1
7
Z

5 K

/0

}1




THE FORMULA FOR THE AREA OF A RELTANGLE (5 :

CALLILATE THE AREAS oF THE RECTANGLES BELOW TO

DELODE THE ANSWER. T0 THE CHitLiNg QUEsTIoN S

WHiCH FiRM SVPPLIED FREEZERS To THE JAiL. ?

6cm Sem
2,m A= s 4 mm
1Z2em Amm
G- ga— e
V= m’T 6m
5m
8w
bm 3em
Fom
Il m V:—"f
M___' 14 m 15zm
L= m* ém Zm
[6m :
R- |
| F .
I ) 2
1Om Am Tr —
I: ml— ~
[ Om i ’ B Z4m
o«
B4 3 74 60 74 40 204 18 90 48 946 84 16 84 45 77 ¢4

87
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A HisToRicAL MYTH/

THE FoRMULA FoR THE AREA OF ATRIANGLE (5..-

CALLVILATE THE AREAS foR THESE TRIAMALES ANP FiNY
VoUR ANSWER iN THE RECTANGLE BELOW. (THE £RREST
ANSWERS G0 AcRoss FRoON LEFT To RIGHT.)

CoOUR, IN EACH cORRECT ANSWER.. THE 24 LETTERS
LEFT TEL- THE MYTH [

\5””5‘}/
VDNE/OV’
149 ¥
: = ,
51, ;'
zq / 15 /6
\ 2o :
i
LI A
30 1z
3 o 8
P (T |E|Y |o |v Tﬂu E|IN|D|A
S | 3 e 9 2 | 4 7 | 3 ,ff 5 _c'>_ ;
L S
éz 2 ?. é E’ 5 AB; 8 | L 4 1 | &
D% E |p|le |IM |T | R Y
lg' 50' %%l 4 |3 | 8 2 oz |2 |9
AN U |a | L G A | s
U: ‘2 5 |4 % 14 17 12 |2 |6 |o |3 |

a
3




NiFTY NUMBERS EASY EXPRESSiONS
4+]3 =____ 5x6 = 5¢c + ¢ =
20490 = q0%x3 = 2aq + 6a =
35-7=___ 1571 = 9k + 4k + 2k =
87-22=____ 900+30= ____ 4m * Zm =
|05 -10= 8x6 = qP - 5F =
3x26= ____ 15%9 = __ 4% + 2% —6x =
4| = ______ 27x3 = 3a + 4a =
258+3=__  45+571=___ be — 2¢ =
85 +j0 = 27 +27 = QL — 31 =
400-20= __ l04=2 = zoF+5F =
MORE MA4iL
=FILL N THE SQUARES 50 ALL ROWS CLOLUMNS SeDiA4ONALS APD WP T THE TOTAL /
4 6 5
8 jo
lo 9 16| |8
TOTAL= 2 ToTAL =24 TOoTAL=30

. PAY AT THE FAIR

’ P // . /
prink L AKE = (O
ST q
70 45.
PERSON HAp BOV4HT
ROPNEY $5 Z HOT po45s
EF} $ 2 | PRINK % LPOVGHNVT
PiANNE $350 | 2oLy pors % | cAKE
MAXWELL | $ |O ) PRINK & | CAKE
LAV A 3 of eVERYTHING [/

NUMBER oF MiSTAKES

89



LET% EXPLORE MASS/ <ophy 1oLl NEED %ALES TO ‘WEGH IN/
ARE QUITE Li4HT/

BAN
SMALL MASSES ARE MEASURED IN G- — ——

WHAT T WEIGHED Eﬁu%x 5 A"’M'ZM"E% @
[ 4 Pen

THE pUSTER
MY LUNCH BOXK

LARp BOARD
MY SHOE

r‘

HOW cLBSE WAS
) | MY BSTIMATE?

OTHER OBIELTS ARE ST RIGHT/

’@/@ amm

wearms L Il e
Bit, MAssEs ARE MEASURED VUSING K- — — _ - __ _
How ¢

WHAT T WEIGHED E’Tn@z‘%spl MASS ALTuA(erE%% ey | W ¢ %A"#’_?
kM‘/ MAHS Boo K

MY SctooL A4

MYSELF

MY TEALHER 1

-
“YWHY Po fisy NEVER KNoW THEIR WEIHT / e
BEoAvSE THEY ALWAYS LOSE THEIR scptes /7™ ,%z =Y

\ - -~



“ / SPEED i$S

= THE FORMVLA WE

VE To LALLULATE SFEEP i5 .

—  SPEED = WiISTANCE TRAVELLEP
TiME TAKEN
VEHICLE PFSTANCE TRWELLED | THIME TAKEN SPEED
BMX cycLEe JO metres 10 seconds mfs
SKATE BOARpD 2.0 metres 10 seconds m/s
HONPA 500 80 metres |0 seconds mis
TOYOTA CAR, 110 metres 10 seconds m/s
BLUEBIRD BCAT | 200 metres 5 seconds mis
767 JET 200 metres 5 seconds m/s
My FEET
TEACHERS CAR,
w= MAKE SOME MEASUREMENTS YOURSELF

= SOLVE. THE RATio FROBLEMS To ZVENTIFY THE
STRANG MATHEMATICGIAN WHO SAVED THE BRIVGE/

T|1:2-_:8 |0|3:1=__:5 |M
V|4:1=12_ |H|I:8=2:_|A
E|l1:9=_:45 |T|6:1=_:4 |5
RiI:5=2:__ |F| _:30=]00:100

16 16 10 60 4 24 15 % IZ 5 30

(7 =3:__
[0:]=__:6

4:3=_*1

jJo I5 21 5

El



92

“., >
FiLL-ER~- VP -MATE/
TopAy WE'RE 4OiN4 To MEASURE
~ USE A ONE LITRE MEASURING 4VU4q To FiNp THE
QUANTITY oF WATER EALH CONTAINER CAN HoLPD.

WHAT T MEASUREp ESTIMATE ACTVAL MEASURE
PowL & t (
Yot e L l
PRINK BOTILE () ¢ i
BUCKET G L L
or S ml ml

Now SOME oF MY ¢HolcE S

pon'T PR
NowW WRITE 6 LIQUID PROPUCTS You HAVE iN YOUR HOME.
1 2 2] _

£ H [e]




NiFTY NUMBERS
6 + 18
19 — 1
IZ X )2
18 - 6
17 + 17
15 — 9
Il x JO
20+ 4
I8 + 15
19 + 19

anann

14

I
16

19
24

THE QUiNTUS QUiZ

T LEFT HOME AT

T T | TR |

IT TooK MINVTES To
LET TO S¢HooL . SCHooL WENT
FOR, HOURS . SUPFER.
WAS AT TOPAY . T WAS

OUT OF BEP FORK

NUMBER OF MiSTAKES

HouRS.

25 Yo AS A PECIMAL iS5
407 A5 APECIMAL IS

EXTRA EXAMPLES

624 + 300
500 + 500
400 - 150
500 — 194
80 x 5
76 X 10
90 — 19
]800 < 10 =
222 + 555 =
734 — 4317 =

([ I (I |

oo

- WEPNES Y ~

oVTOFBEP 6°30 G-m.
LEFTHOME 8°10

aoT 1o S¢Hool. 9 €0
ScHool FiNisHep 330
ARRIVEP HOME 4 -00
SUPPERTIME 4320
INToMYBED 10°00




WWW\( p —T=1=Z)

WORDS (AN BE NUMBERS, THAT'S WHAT IVE HEARD,
S0 WRITE THE NUMBER. EESIDE THESE Woaos/g

EigHTY 51X
THREE HUNDRED AND FiFTY TWO
SEVEN THOUSAND NiNE HUNDREDP AND FouRTEEN
ONE MiLL-iON
FOUR POINT FiVE
TWo HUNDREP ANp SEVEN
FiVE HUNPREP ANP NiNE
SiX THOUSAND 4 TWO HUNDREP
NiNE THOVSAND AND SiXTY ONE
Ei4HT THOUSANP ANP FORTY
TEN THoOVSAND AND TEN
THREE MiLLION TwWo HUNPREP ANP TEN THOUSAND

A SVPER LHINESE MEAL

3248 84 5 3246 48 B4 3229 44 3248 5 8246 46 30 60 84 75 46 84

94

TWENTY TWo ApPEP To FifFTY THREE
S$ix TIMES FOURTEEN
THE UM OF SEVEN, EiaHT AND NiNETEEN
THE PRopVULT oF FivE ANP TWELVE
THE PRobucT OF TWO, FOVR AND SiX
THE OiFFERENCE BETWEEN SEVENTY ANP THIRTY EiaHT
ONE HUNPRED ANP FiFTY PiVIiDEDP BY FIVE

THE 3uM OF THIRTEEN 5 THiRTY ANP THREE
THE DiFFERENLE BETWEEN FiFTY ONE AND FORTY S| x

TWO0 MoRE THAN FovR TiMES TWENTY

lSAwn|v(o(Z|F MM (D

ONE LESS THAN NINE TiMES FiVE




%t 7 % é 9 %w "
{//,z 777 |5/ él’ 17 i ////{//’ °

MBER [~ B
7, // // 19 V// Y

- FilL iN THE
NVMBEK5 4iVEN THE LW/ES AcRoss/

ACROSS - WRiTE iN NUMBER
I NiNETY FovR

Z THREE

3 EiqHT HUNDREY ANPD FoRkTy SEVEN
é

b

N

TWo HUNPDREpP AND SiXTy
TWENTY NiNE THoVSAND ANp THiRTY SEVEN
10 NiNE THOVSAND NINE HUNPREP AND NiNETY NiNE
12 THREE HVWNDREP ANP FoRTY TWo
13 FovR HUNPREP AND SEVENTY THOVSAND , NiME HUNDRED AND
TWENTY ONE

I5 5iX HUNPREP ANP FiFTEEN
16 FivE THOVSANP ANP NiNE
I7 TWo HUNpREP ANV TWO

18 FiFTy EiqHT

9 NiNETY NIiNE
PowWN - wWRiTE UsiNG WoRRS. ZQ//O’E

T 3T AN M wn

14

95



NIAT R A 4

BY cOMPLETING THE TABLES BELOW AND THEN
PoiNg THE SUMS, You’LL FiNp ovT £

NUVMBER | | 2|56 |8 |9 |12]|13|15]|16|20[25
SQUARE
NUMB ER 4 (9 |16|49]i0o0 [12] | 196 | 1000000
SQUARE ROOT

2
A s*r5-_ [ Berio-__
€l 2 +4=-___ Ll ¢+ 81=___
o] 7*—29-__ [N] [i#9-1= __

E) 24 -10=__ (o 17-[z- __
] nw—95-— Rl [Fo0-J7-
@ 27 rs-— (&l (wfrst-
) 5Fme— M [FAA-

ek

— S — e— — — c— — — — — e e

15 1626294 1611 10 (9 2617 16 201324 1[62]

— — — c——

\7 24 1415 18 121215

96
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NiFTY NUMBERS

I 14 =
14 B
|2
16
13
|6
Il
15
19
17

v:scovs VAKIABLES

+

|I|I!HH|

dX o+

16 =

) +

+ + -1 %
>
[ |

Zb

c
3d
3e
f

39 -
5h - 2h
i - 4i
2j *2jr2j= __

THE QViNTUS QUIZ

—How MANY pPAYS iN JULY

) + + + +
w WP T
Coa

[ J T | I ) "

T

MoNEY MiXTVRES
|5<- + 5. =
10 — 6; = _
3 x |0 =
7 * 20c = _____
50c + 20 =
50¢ = 20¢ =
$4 +$6=__
$9 - $5-
$20 x 3 =
$80 - 4=____
ExTKAExAMPLEs
12% joo = ______
3ao+zoo=
joo - 75 =___
200 - 50 =__
40 Xx 6 = _____
70 x B =
40 = 5 =
Bo <+ 4 = __
333 + 333 = __
625 — 1.5 =___
JUNE

M TW T F S S
1 2

—\WHAT PAY i JUNE 3rd

3 4 5 6 7 8 9
10 11 12 13 14 15 16

~WHAT PATE i$ THE FoURTH TUESDAY 24 25 26 27 28 29 30

OF JULY

17 18 19 20 21 22 23

—
ULy

~\WHAT PATE i$ THE SELONPD FRipAY OF

JUNE

J
M TW T F S S
1 2 3 4 5 6 7
8 9 10 11 12 13 14
15 16 17 18 19 20 21

= How MANY MONDAYS iN JULY

22 23 24 25 26 27 28
29 0 N

NUMBER OF MiSTAKES
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///TEE,GKEAT INTEQNAL::_ Liiss 500/

L NSTRYUCTIONS

—4ET A DIE » A LOIN» ANP
LOYNTER?S FoR EASH
FLAYER-
— FLIF THE coIN AND 055
THe Pick EVERYTIME
T coin GiVES THE ZIRESN
_1nE Wi E aives THE AT
To MoVE -
~ 4 PLAYER. WiNs B RESING
giTigr. FiNisH UME
FRST. EAACT NUIMBER
NoT NEEPES
(/fl/TEr\N/ﬂ'iVEW'l Toss TH
cojn oNvY ONE ANZ

LonTINVE iN THAT,

Vi KE&T’OA/")




— P Popy_

How MANY FLOORS pip THE LIFT TRAVEL AND
WHicH WAY WAS iT 4oiNa?

| FrRoM THIS ToTHIS | HOW MANY?
FLooR FLOOR | WHicH wWaY?7
-9 o 1 1 vF
1 5
5 é
@) 4
4 2
3 o
o Z
2 10
10 A
Z) 5
5 J)

HERE is MT. LooKS PAiLY TEMPERATURE (°L) Lou
SHEET . Fill INTHE 4AFS !/

ve
- ‘(U, g STARTOF | CHANGEN Mipy
- (. THE PAY | TEMPERATURE | RECORPING
Ve / ﬁ, K‘fﬁ 6°
3° FALL S°
5° RiSE 2.°
| ° ALL7°
A o
4° 0o°
6° -1°
’}‘ 5’.
RisE 10° 0°
I AL 3° A
RisE 4° I
-2 FALL-1°

99



a2 wuf INTEGERS

M NU 5 TIV

o 4 -8 - 7—4—5—43—2'/ o | 13454,
L4 1 9 1

- i A A A [ [ | | I |

~-§1+2 = -5+9- -7+3% = Z-5 =
6+~ 7 3 13+4 * -7 +9 =
5 -1= 3 -F = -7-6"° 3-5 =
-1+ | = -l -6 * + 73 2=
_3 - = -20 t7 = -¢ 1—7: -®*+9-=
-l +5 = -9 -9: “lo 3= -6 “9 =
-2 v = -7 + |- 6 -7 = 7 -9-=
7-2¢ -9+ “Tre- T3
313 = 9-4- "3+t5= -8-1=

"How MANY PEAS iN A FIiE 2"
=—5HAPE iN ALL THE MiSTAKES T0 FiND ouT,/

+¥4-725,é4 ) |-3]-5]e |-
6 |-5|5|2|2|-6|4|0

>

S\12 |-/ |72|-6|2|3 |~7

710 |-1I|-]|-4|-8|0 |!]|-6
6 1o |- |4 |11 |Oo|lo| 7 |3 |1 |iz]|5 |I3

3

q

IV

47130 4| F| 72 ¢
|z |2 |lo|1z|4 |2 |36 |4
—4|-8|11|-2| 1 |1to|o |5 |-7|-9| 2 |-5]| 3
PUZZLE -7 -1l14\-5\-2112|-3|% |-fo|-12|-1 |8 |10
’/z’;gpf,, 2-2|-5\4|78\6|2|-1]-38|1|8
CALLIATORN 5 V1 -2 | 7 |10 |10 9|8 |20 |1 |4|2

100



— A QUESTioN oF MATHS -
?;11"5 EXCELLENT Fupy

70 ANSWER SUMS /S
L. ATDiTiON pfjéeguifzi
-l6ti17= 91137 -= 52-85* -96 +[6 =
“1H3-56= 24 -7+ = s50-16-25 = -6-12+85=
40-19-12 = 44 -55+60= “75-57= 13 -1z =
28-3 = “6-7-* I+ = -1 - =
-7 -lo= 34718 = 3| -7*= 6-/> =
"22-25 = 2%-47- -50-72 = -17-26+
-14 -2] = 26 - 12> )2 = 30r41=

—MATHS QUESTIONS YoU WERE ALWAYS AFRAIP To ASK/

SOWE THE 5UMS 5 WRITE THE LETTER ABOVE THE ANSWERS INTHE CODE

WHAT HAPPENEP To THE PLANT iN THE MATHS RooM 7

— — — — — — — . p— — e e — —

-7 -23 -13 -15 ¢+ -8 5‘;7 =91 -I54 -15§ 22 22 -13 5

WHY WASN'T poRjs iN THE MATHS cLASS I'4

— I — L — — T — — — — — — —

5-4t 815 5-1T¢ -8 +14-15¢% f105¢%

WHEN DoES 5¢5=12 7

— — — — — — m— — — — — pmm— e— e— —

Bt 4 2% 722 -9-15 -4 2264 -822-15-2

75 -8-1512 24 -3

Lsozos  K-7+5- M--0- Y54~
N-¢-18- H-15+* O -3+25= A -3v4-
Uio-19-= Q 10419+ 5 17-12+= W-5-3=
E-13+17: R -9-6= G 7-20-= T-15-8°

I -3-4-

101
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NiFTY NUMBERS TRENPY TABLES
I3+12 =____ 6 x 2=___
13 - |2 =_____ é6 x 3 =____
1 x 5=__ 6 x4 =____
12 4 = 6 x __ = 36
I+ +10=____ 6 x __ =42
14 - 10=-_____ 6 Xx___ =48
|z X 7 = 6 x 10
16 -~ 8=____ 6 x Il
15 +19=__ 6 x 1L
17 + 11 = 6 x ___

SOFT SVBSTITVTES EXTRA EXAMPLES
a =10 49 +4=__ |2 AppEP To 2] IS
b=12, b+tll=__ 9 TiMES 32015
¢c =1l 5 c—2=___ $10-35+$1245=_____
d=1%,d-4=__ $11-60 + $17-90 =
c =15, lite=___ 975 =—_t70 +__
F=14., 9-F=__ goot+60+ 6 =__
g=8.129g=___ 333t444 =
h=16, Zh=____ 555+222 =
L=, 3i=___ 450—)70 = —
j=20, bj=—— 369-265 =___

THE QUiNTVS QUIZ

—FINPmEGOSTFOKooo

) FARENT ANPD ILHILD

2. PARENTS ANP | HiLD .
2 PARENTS AND ‘ramwxav_
3 PARENTS AND BCHILPREN _____

NUMBER OF MiSTAKES




—LEx —§ =
i P
—lzx—9=
—(ox(]=

A FEAST OF TasTy PRopucTS

—_———
“/x-6 =
—-l0x |0 =
-brx7 =
7x -6 =
-lOx=-I|=

Sn 7=
—3»’-1.—.-
-5 x-5=
-9 % }2_:
—}n—?:.

3x 4=
3r-7 =
-l x -4 =
Sx=7=
1Z x~( =

CANNIBAL COPES / soLve THESE PROBLEMS To ANSWER

THE QuesTions/
M -1 F - b4
& 26 x8
Y -7 R -9 N 8
x Z: )‘-5 ;,-5
P-4 H iz E-i5
X = x=7 X £
T -1 $-iz A5
Z -2 x5

P

— ——  a— e e— — o— ey,

— p— —

60 0 5¢

How Do cANNIBALS cooK sMALL TEORE AND LOBRASE

75 14

—

24 24 75 80 o

— — — am—

— — e e— g—

75 24 56 36 143286 -1 36 -To-T0
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— DiViPiNG TNTEGERS -

PosiTIVE + PosiTive =

9+ = 16 ~4 = 35+7= 48 +¢ =
2 5 & 4
FPosiTiVE + NEGATIVE =

l2+-2 = 20+-4 = 24 < -6 = 32 w-4=
20+ -3= 45+-5 = s6~=-7= z| ~ "3+
27 +—9- 64~ -8 = (2~ —I = 14~ =7 =
NELATIVE = PosiTiVE =

466 = 328 = S8+ = 2773 -=
217 = 60 75 = -24-=%= ~32°4-=
—4 </ = 2674 = -¢3+9-= —56+8 =
NEGATIVE + NEGATIVE =

“lo+-Ip= -7 +-7= -B+-8=  -t0:-8=
28+ 4= 2o+ -5= - -B2-4 =
—-_Ié = "" = —y‘ = —2¢ -_
-3 -2 - Z -2

WHAT pip THE ASTROLOGER. 5AY To THE YoUNG LoVERST
To FiNp THE ANSWER COMPLETE THESE SuM5/
O -% -

-39 = =
a = Kﬁ‘ﬁ
L -8l1=9= A 32+-4=
I —lZz = v 100 =

— - e e e e e—

N 50 =
10

— e g c—




sos” FiRATE PROPUETS =

5""53 5r9 = -9+-3= 777 =
2x%x-7= 3%10 = 264 = 36 = —4*
4~4- 6~6* 45 +3+ -20 * ~20-
<7 x°7-= 7% Z6 *1- 70+ 5=
-br6- -/6 % -2+ 4%+ -ll= 22+ -|*
3x7+= S5x-4-= 12 *-6= 606"
-3%x-7+ (0% 6= -Bo=-lo = -76+ -6+
7 *1o= -5 x-5= 29+ 1= 250 ¢ -5*=
8 1= 7%-11= 305 = s i

Now Solve THESE PROBLEMS AND SHADE IN Al
THE BoXES WITH ANY OF THE ¢oRRECT ANSWERS /

“6x5 = ~Fx-7= “20 4= "S55 .
-4%-8* “Bx 14 - -B¥ 12> 37:2°
3 r-12 = 6% -16" -28 <=7 5)+-3:
15K 7= Sx =20+ -8l +-9-= 51 +-1] =

4+t |30 1340 |28
22|16 \125\14 18| (6
Z\|-3L| 1512 |22| 8
6|36 |76| 6 73|17
4 \11242q 15 |1 |1/
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(U) — INTo EVERYTHiNG —
FOR YoV To Sotyr/

40~ 8 =
50+ 5 =

-0 T -|Z =

WHAT pip D.T. ELAINE EQUAL SAY WHEN
LOOKEP iN HER. pPlaayY BANK . SHAPE iN

'Y 0.1 ELAINE
v s

F

6+4 =
—“ 1-7 =

-8 -8+

5-5=
.—7,1 =
—10 | =

-2 -2 =

UAL-
F Sas

~40+8 =
50=-5 =
—loo =4 =

SO Go 7o 7804

’é_',‘r,_

=1l -7
I3 -6

N

‘51’5:

4 -

-q +9=
-Z +2=
40+-8 =
-60 = (2=
oo = —4 =

W~ &
\A

\

~

U
-‘.
Q\()-—h
||

1

VIRV

LTI

SHE
ALL THE

]

\

-
\n

\

SQUARES THAT LoNTAIN A MSTAKE To Ewp ouT/
\ .

|54 521 o] |2]3]+]5]
h2 | 402424 -lc |-8 |0 | 8 |-1g |24 |32 ~4o
42—5515;/ -14\7 |0 |7 |-14 |z |-2B|"35
3¢\"3024 |18 -12|6 |0 | & |-I12{I8 [-24|-30
-20]-25 |-20(15 |\-10|-5 |O |5 |10 |15 20125
14 |20 |16 |12 |8 |4 Ki‘B -1z -lé |-20
16|15 1z |9 L |3 ~2 =6 (=9 |-1z]"15
2|10 |B ¢ |4 |2 |Q2 |2 |F|6 |Z|°
~tle|-sl4 Fzl-2{1 |o |-/ |-2|-3]+ %
[o]-c]0 |-4]0 |-2]e |00 |0 o |4|o
[ le|-5 -2z |7 0| |2 3}?5

D=y



- SiaNS iN oUR TiMES -

l EY&VRﬂFﬁZR THi S PA‘E’

HELP MAXINE MiNVS To WRIE THESE NVMBERS iN
ORPDER , SMALLEST THRoUGH TO LARGEST / O

5 8 1 7 4
6 4 5 8 O
2 2 8 0 +4
-7 5 7 2 3
0o 6 4 B 1
3 2 8 1+ 1

CALLVLATE BY ~ APPiNaG % 5UBTRACTING

“6t5 = “7-2-= -8 5= “Ir4=
-12+6 = 3+7 = 2% = -8+9 =
_.I+—I= 7_é: 6—7.1 8—{2:
/-8 - -(2-¢ = c+5 = —frZ=
—8+5= -4+9 = —/5—5; —7r,3=
= DiViDiNg
Yo0+5 = o5 = 6075 = 37%-3=
—67*3+= -96 * 5+ -24 4 = 46+—¢=
-72+ 4= 28 +-7= 567 B-= ~46- 6 =
= MULTIPL7INA
O * -4 = -Bx 5 = ~773 = 6x7=
—9 *x -2 = Bx-8 = -6rx3= oKl =
-4 % -5 = 7 =x-6*= g -] = 6x12*

VSEA Y or £ si4N To MKE’WE§E ;zmﬁws

7__ 5 q9_~2 5__ —7__7
4_ -3 /__-8 %5 ____ 2 6 4
TiME TAKEN

NUMBER CORRECT _




NiFTY NUMBERS FANTASTIC FRACTIONS

17+ 14 = Z oF 6 = ____
18 - (| = £ oF 10 =
1 X 6 = Ji_oFl?,=_
16 - 4 = i oF |18 =
18 + 18 = 3 X 5= ____
I3 —-12=__ jz/_ X ‘%_= _
e lzxIl =____ 4 *+ 5 —
XN 15+ 5 =____ j}_ + &=__
17| 1a+16=— s - F=__
13 +17 = # - 3=_
MigHTY METRICS EXTRA EXAMPLES
70scc +50sec = 30 pAYS = MoNTH
38secc +26s¢ce =_ MINVUTES IN 1 Hour
69m — 49m - I'4 + 13 =
43km—27km=____ 27 —15=____
l0003=__k3 04 x 6 = _____
5000g= kg 1’2+ 4 =
rng“" 2-3 69'7—!, ,4‘84
_ _mg-= 2‘55 975 + 579 =
em= 3 m 420 — 24 =
em = 35m 5%+ =
THE QVINTUS QUIZ
~ FiND THE ¢o0STOF. ..
JO FELT TiF5
IZ. PENCILS
10 RVLERS
2.0 BiROS

0 BiRos 2o 4
15cm RULER
75,

I PENCILS %12 RVLERS

NUMBER OF MiSTAKES
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CHOOSE WHETHER. YoV WANT W VT ovT THE
TANGRAM or. THE E44. THEN TRY T° MAKE
THE SHAPES ON THE NEXT PAGE/

THE TANAGRAM

~ MAYBE EVEN INVENT
SoME SHAF! E; oF
Yo[]& OWN.

109



4

INLIKE His LovsiN HVMPTY-PUN(TY
1y JsT coupN'T BE VT BASK
fp&ﬂ”eﬂ" EPPIE HAS pivieer
HiMseLF so HE 4ANV AWAY? Forr
AN Eaday AN NOT ONLY THATs HE
LA CHANGE iNT? &Dfﬁm
preitiNg srest

10




~ HERE AR T AN SHATES

. oV CAN MAKE.
A
G for
: INA K
M RaRow
SAILING
BoAT
THE HoRSE AND
Pq{?ﬁ iV RIPER,
— THE EGG

ﬁf/&) N
peoa

BeAT
STANDING PUCK

m



,.\ YWMN Hl ;

i/ WiTH ONE cups WiTH
".I\ STKEM'H,

5 uUB 27%6
|| =2Zx6
V-zx*gfzp °
s IZm

CMBiNING THE

HOLE PisTANCE = 26 m

STROKE | : LWUB 5, STRENGTH4 = 5 * 4
PiSTANCE = 20 m
STROKE Z.: tUVUB 2.4 STREN4TH 3 = 2% 3
DiSTANCE = 6m
TOTAL DiSTANLE: 20+¢ = 26m

EXAMPLE 2 ?@3 \@)9*

(Yov tAN ALSO HIT BALKWARPs /)
HOLE PisTANCE = Z4 m

STROKE [: tLLUB S, STRENATH 6 = 5 % 6
PiSTANCE = 30 m
STROKE Z-° ¢l 2.4 STREN4TH 3 = 2% 3
DiSTANCE = 6m
TOTAL DisTANLE® 30-¢6 = 24m

112



gg
N
o)

BPIMNARCAN

LoURSE FAR 1% 24
Pip yo BETTER THI® £

HOLE | DISTANCE CLUB & STRENGTH STROKES
25m

I9m
55m
lOm
38m
14m
32m
87m

QRN | |\n|p|w P |=

29m

13



14

NiFTY NUMBERS

I5+15 =___ 22-18=____
4+14 =_ 15+19=___
20-3% =__ 200 =__
Ix3=___ I5x5 = ____
65+9 =___ e6te6=__
57-9 =__ 6ex2 =

107 = |l=____ 105-22=___
3x80 =___ |00 +25=__
200-4=___ 50x6 =__
27 9= 24x3 = __

TELLING TABLES
5 x 6 =_____

5 x 3 =___

5 x 7 =____

5 x 10=

S xl2= ____

5 x 8=____

S »x 4= ____

5 x 1= ____

5 x 9=__ '
5 x 5=

POSSIBLE PATTERNS  Jwx(

Q99 x 2=___
999 x 3= ___
999 x 4= _
999 x5 =____
999 x 6= _____
99 x 7=____
99 »8=-___
99 x1=___

55 x5 = __
555 x 5 =__
5555 x 5 =
55555 x5 = __

I x| =

I x 1) =
My x 3 =___
L o x L =

SNACK TiME J

MAzic MENV WHAT i$ THE 05T oF :

HAMBURAER

250 = | KAMBVRGER , $ |- 50 CHIFP$S

. CHEESEBURGER, - SMALL ¢oKE
Z = 32 CHiPS , SALAD , LARGE COKE

= 2. CHEESEBVRGERS MEDIVM woKE
$1:50 ¢HiPS

= 4 SALADPS , $5CHiPS, 3 SMALL ¢oKES

NUMBER OF MiSTAKES




FiLL IN THE INFORMATION ABOVT FolyaoNs /

A TRIANGLE HAS ____SIPES
~TYPES OF TRIANGLES ,,

T
————————

A QUAPRILATERAL HAS ___ SiPES
—TYPES OF QRQUAPRILATERALS

— A
O

A PENTAGON HAS___ SIPES
A HAS 7 siwEs T

AN ocTAGoN HAS __ SIPES

—————————————

ANfWE‘(s 1505 ELES (T g ERVILATER AL

LoGRAM
J Moy Pre4LE _
HEPTAA® SavArE g TrAreZIUM

g RETANGLE " 0otV Riénrangry o, qené

15



16

*."TRIGONS GALORE.

| TRidon ACTiViTY DrES: | HisoRY
L MEASURE THE VENGTH OF EACH 51PE . LATIN;
W=__ vw-__ VL= AEQVT | LATERA
v v | 7P yov pBLevER THAT EAcn 51pE EQAL 51pPES
(% THE s4ME LEN4THT
v MEASURE THE LENGTH OF EACH 3(PE. 4REEK,
WE=__ Ep=__ PN~ 1505 , 5KELDS
ARE THERE TW? 5085 EQutL ERVAL LEGS
g | iN L7 Wil
7 .
MWUKE EACH 2IPE oF THIS TKVW“‘&LAT‘N,
0 TRimvbLE. JO<—— O0Y=-___ TRL , ANGULL
y YT = ARE ANY sipES THE THREE (0 RNERS
SAVE LENGTH?

NOW DELIDE WHAT TYFE oF TRIANGLE EAcH i5 -
LOLOVR ERUILATER M- TRIANGLES RED, T505c6L65 TRIANGLES BLUE, &

N

RiGHT-ANGLED mwvﬂf} 4K££N/

XPLORE THE TRIANGLES BELOW WM%MM EAH ANGLE % mnzﬁm

A P i E
6 - F
ANGLE A= ANGLE P = —
ANGLE B=_— ANGE B>
ANGLE L= ANaf F=
S0M OF ANGLES = ____ | 5VM OF ANGLES =
A TRIANGLE- | AN TRIANGLE .

5UM oF ANGLES ™

AN

€ ZGLE/,
H

G p =

ANGLE G=
ANGLE H —
ANALE T =

TRANGLE -

S

S



TRIAN4GLES ARE HOT/

Fill IN THE MiS5iN4 ANGLE ON THE TRIANGLES BELOW
TO DistovER A FALT ABOVT TRIANALES

— — — . — —

55°40 7065 w012l 15° 33 40" 29 40 0" 40 65" 60

NowW PRAW QUAPRILATERALS AROUND THE FOLLOWING
FAIRS oF DiAqoNALS/

X > +
> >

n



—MEET EVERY MATHEMATICIANS HERO/

WRIiTE THE CORRECT LETTER ABoVE THE PoLYGON
IT REFRESENTS /

OCTAGON

TRIAVGLE
PENTAGON
$SQUARE

NN
HEXAGON
ELLIPSE

TRAPEZIVM
CiRCLE
RECTANGLE

18



W%«Z%ﬁgﬂl

NiFTY NUMBERS TRENPY TABLES
38-12=__  58-27=___ 7 x 8=___
15+19 =___ 63+42=___ 7 x 5=
27-15=____ 18-15 =____ 7 * 9 =—_
4%x33 =__ 35=-7 = 7 *x J2=
74+8 =__ 45-9=____ 7> 1= —
8x40=___ I18x3 = 7% 3=____
8§ x30=__  4x)5=____ 7 x 6= —
360 +6=___ 72+70=___ 7x 10 ——
480<4=___ 49+7 = ___ 7 < 8=
qQ7+13=____ |o8-I5=____ 7% 4=
Po$SSIBLE FATTERNS
| x 9+ 2=____ 37 x 3=____
I2xq + 3=__ 37 x 6= ___
123 x4 + 4¢=______ 37 x 9= _____
1234 x99+ 50=____ 37 x 2=
12345 x99 + 6= 37 * 19=-____

MAiL MIXTURES

WHAT LOMBiNATION oF 40¢
AND 50 ¢ STAMPS DO YoV NEEDTO
PoST LETTERS WiTH THESE AMOUNTS ?

$1-30
$1-70
$ 3-30
$s5-20

NUMBER OF MiSTAKES
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DESIGN A TESSELATION FoR EA¢H /

INAONININNININININININININTNS




TESSELATIONS ~ 5527

TR IEIN,
KRR TTIN
SeseseNe
CEETE
seeswees
gusasee
SUS NS
S Ve eve
LR RS
Seses v
SO0




§

NiFTY NUMBERS
23 + 22=___
24 - 18 =___
21 X 6 =___
25 - 5 =___
24 + 20 =___
26 - 23=__
20 x 9 =___
21 ¥ 7 =
26 = 15 =___
26 — 27=___
RADiCAL ROMANS
X =
XX=___
L -
LXX =___

C =
; = 30
2 — = 60
Wws = 8o
= 1ol
20 = 1o

THE QUINTUS QUiZ

L LEFT HOME AT

IT TooK MIiNVTES To
GET TO StHoOL . SCHooL WENT
FOR. HOURS . SVFPER.
WAS AT TOPAY . I WAS

OVUT OF BEP FOK

NUMBER OF MiSTAKES

HouRS.

E

S
z
3
g
N

) + +
NN

T

ohbdWpd T T
x | | 2 IV
N O o |

aN e W o=
T Bt Bl

Jo X 003 =
20 Y% ASADECIMAL IS
37 7o AS A DECIMAL 15

EXTRA EXAMPLES
589 + 300 =_____
600 + 600 =___
500 — |70 = ___
600 — 2.8 =____
90 x § =

52 x 10 = __
Joo <o =__
234) > |00 = ___
666 +777 = _____
985 — 5849 = _____

| —THuasV:%— |

OVTOoFBEYP 7-30 q.m.
LEFTHOME 8°15
GoT 10 S¢Hool. 8 ° 45
ScHeol FiNisHep 3 -25
ARRIVEY HOME 5 -00

SUPPERTIME 9-4©
INToMYBED 10 -39

———

123



NUMBER, RELATIONS |
FOR EACH OF THE SERIES BELOW, Fill iNTHE MiSSING NVMBERS f

2 4 6 8 0o __ . - - —
3 5 7 9 1

/I 5§ 2 5 3% 5

30 27 24 2 18

I 4 a9 16 25

2 3 5 8 1Z —
I 2 4 8 16

4$ 5 a9 ¥ — —

I 2 3 5 _ -

5 15 30 5 _

22 24 28 36 — —

Now cRoss ourT  |Y /| K
ALL THE SQUARES |/ 14 |71

WHERE THE F c
NVMBE% A K£ |0 36
NOT iN YWR e
ANSWERS. 4|52
¢ /\a
36|00
o /B
36 |29
A P
6 | 230
Vv L

24| ¢4

124



WHAT i$ THE pEsT } 5 ¢

THiNGTo pO iF YoVR. _ " [z :
SHiP STARTS To SINKP 4
. 4 w
To FiNp THE ANSWER , ‘ " ¢
WRITE THE coRREA LETTER Py L F
ABOVE EALH Lo-oRPINATE FAIR / P A
' 1 A
-_— ] $
(,2) @, (6,4) (3,7)  (8) Ty v R
_____ — 4 0 £
(%,4)(1,9) (6,9)(I5, 10)(6,9) (5,0)(8,5) ‘o# f 2 3 4 5 6 7 B 9 5

(72500 6,4)(34) (86025 (2,0 (57)(73)(%,0)(Z,6)

_ — /

(2,11 (500400 (7,1)(7,2)(6,9) (6,6)(15,0)  19,3)(7,2) (2,6)(5,0)(7,1)(8,9) *

NOW PLOT THESE PoiNTS oNTHE 4RAPH BELOW ANP
JOiN THEM A% Yov do f

(7,5) (8,43 (14,6) (16,6) (17,5) (14,2) (2041) (14, 3)
(18,50 17,7) (18,9) (16,410) €12, 13) (4,14) (4 ,15) (2 ,13)
(0,10) (2,7) (4,42(7,5)

/6
/
%
8
/3
"
90
7 jfiﬁ R
8
() Ay

’ A= ME V!
6 77
5
4
, \

AN S
2
0 I L 3 4 5 6 7 % 9 100 (21318 15 167 I8 19 20

125



ANOTHER, LANNiBAL- LODE. [ To pgcovE WRITE THE

8 i CORRECT LETTER APoVE
T | Wl x| |eacH co-oroNATE PiR £
Y 9 ((
(4
3
o ; v H (1,3)(3,72)(-4,°4)
64 7
(~4,#)(-2,2)(252)
- 4 4 -4 /| o T4 3 4 ¢
. 1 Z » (4,2)(1,-3)(4,-5)(4,5)
2 2 —& — _ _
£ “4- £-5)(-3,6)(2,2) (-2, 2)(4,2)
(4 L
T T - - —
A (<6 2) (44, 2)(1,73)
—3] L 2
é‘ - - — — "
¢ (2,2)01,-3)(-4,1)(1,-3)

WNEFUN/ _

(6,-2)(4,"5)(4,5)(3;2)(4 ,°5)(2,5)

—— T ||| ece— m— —

(/ “6)(4,-5)(2,5)(372) (-3 ,6)(4,5)(-2,~F) (6,2)4,2)(-2,2) (Z,Z)(z,f)(z.4)(4 4)

/
(4, F)C ), -3)  (=5,€)(6,-2)(14-3)((,3)(1,73)("5,°6)
Now PLOT THESE PoiNTs 7
AND JOiN THEM 45 Yovugo! 7
coLoUR YoUR RESULT . 4 5
(2,20(3,00(3,-2)(2, )1 ;) |20
(047 3) U1y =432, 4)1-3,73)(3, 7)) N . 2 R
(<15 1) (-2,2) C-4,1)(-5,3)(-3,5) i
(0,4)01,3)(5,5)(5,3)(5,1) a2k W7 )
(7'1‘7”211)‘0*2)('213)('313> _
# ’¢J
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NiFTY NUMBERS
25 + 16
25 - leé
20 x 7
36 - 9
27 + 28
30 - 14=___
24 5 =__
2.7 3 =____
28 12=__

33

26=__
Viscovs VARIABLES
k + k =

21 -V =____
m 3m=__
2n + 4p=___
5? 3F=—

3, T LI

2Zr=__
3s s =_____
5t
5t

4t=__
THE QViNTVS QUiZz

4t-
— How MANY Y5 iN AUGUST 7

—
—
—

—

nonon

) + - %

P+ 1 + + +

|\ +

KRS )

MoNEY MiXTVRES

206 + lOa
40c + 20.

25 - 15

H,'(‘ nnonou

EXTKA EXAMPLES

145 + 200
400 + 300
200 - |30
00 -— 4-8
q0 x 5

80 x 6 =
20 — Jo =
60 — |2 =

a—
—

—
—

M TW

= WHAT pAY i$ SEPTEMBER 15th?
= WHAT PATE i$ THE THIR D SUNPAY OoF

AUGUST?

5 6 7

o
AUGUST

T
1
e

12 13 14 15 16 17 18
19 20 21 22 23 24 25
26 27 286 29 30 31

F S §
2 3 4
9 10 11

—WHAT PATE 1S THE FiRST MONPDAY of 2 a4

SEPTEMBER?

—HoW MANY WEPNESDAYS iNAJGUSTT___
NUMBER OF MiSTAKES

SEPTEMBER
M TW T F S8 S

5

9 10 11 12 13 14 15
16 17 18 19 20 21 22
23 24 25 26 27 28 29

1
6 7 8

&

£
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—MEET _LARLA 0UR CRAZY CALLULATOR /
Y.y

CARIAS 50 AEVER 1
EVERYTIME YoV 4iVE HER
A NVMBER 4 ANOTHER

ONE PoPs ouT/
TRY AND GUESS WHAT

ARLA 1S5 POiNG AND
FiLL-IN THE aAPS

0
v

® € \
D -\
-«
<« \
<«
<
« o
<«

Vv
20

13 2|

~THE RULE i5

HERE’S WHAT LRAZY LARLA Dip To SOME oTHER NVMBERS.
TRY ANp WORK oVvT WHAT 5HE’S VF Too !l

IN

o 1 z 3 4 o 20 — —
v V¥ v v Vv Vv Vv ¥ \
0

@ 5 o 150 500
~THE RULE i$
N o | 2 2 4 8 0o 20
20N 28N 7 ' N 2N 2N 2N R
& o z | /00 50D
THE RULE i$
[ 0 | 2 2z 4 [0 100 joDD
v v v ¥ v v v ¥ v v
AN 1 2 5 __ 4l 43

THE RULE 1%
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o o 2 4 o 2
( 3 / 5 / 5
2 A 2 Z 8
[ = 3 3
|« 4 4
-2 5 5
[ 6 6
7 7 7
8 8 8
71 9 9
CARLAS RVLE GARLA™S RULE CARIA'S RVLE

NOW VS(NG THE

URAPH TRY AND A
PLOT AS MANY

POINTS AS YoV cAN

FROM EAcH ¢HART S
MAKE THE RE5VULTS

FROM EAeH cHART

A PIFFERENT

coLovk.
(THE FiRST FEW HAVE
BEEN DoNE FoR }’00.)

I —————

¢129




GARLAS FINAL CALLVLATIONS

coriere [N [N
THE AHARTS .
THEN VSE -5 o -3 | -12 -3
YovR -2 l -2 -2 | -4
RESULTS To - | -/ -
PRAW A o o . o
GRAPH OF I / 4 / | -l
EALH LHART, 2 ) 2 2
(vse A z:FFEFENT 3 > 32
ZOLOVR FoR
EAZH o/:E.) 4 4 - % ’.é_— =
CARLAS RULE  CARLA'SRVLE  CARLA® RVLE
= -
g
kB
s
;
p)
F/
@ ]
S e[ 1| 2 ?ﬁ 2] 5
—
ANV WHEN AARLA CALLUATRINS
4 FiNiSHEP FoR THE DAY $HE LIKES
3 To 41T BALK ANP DREAM\ oF HER
SWEETHEART, FRATION MAN,
'* ANP ALL THE PROBLEMS THEY
Wikl ONE PRY 50V ToGETHER /
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NiFTY NUMBERS
2] + 13 =
2l — 13 =
20x &5
28~ 4
29 + 27
22— )5
29 X 3
29— 3
23 — 2| =____
34— 25=____

T

PPROWPROXXMEO®®DP

I | A [ |

I I T I

<E VWO 3IF K

THE QViNTVS Quiz
~FiND THE ¢OST FOR ..

3 APVULTS OoNLY
2 APVLTS % | CHILD
Z APVULTS X RLHILDREN
| ApVLT % 2 cHiltPREN
4 APVLTS Xk 5 LHILDREN

NUMBER OF MiSTAKES

W kiteer

TRENPY TABLES

= Wb

X X X X X X X %X X X

EXTRA EXAMPLES

35 AppEP T 4715
25 TiMES 20 15

$15-26 + $11-35=
$18:75 +6)6°50 =
919 = 900 + +
700 +30+8 =
666+ 440 =
JI1N +2222 =
540 - 380
963 —-526

~HEALTH EXFo
ApuLtS $3
CHILPREN $ 2,

)

13



7 2
o A
TiME To TAKE A SURVEY iN Yo, class]

— CHooSE AT LEAST jo FEOFLE,
~WE THE RESLTS SHEET oN THE NEXT F;I,GE To RELORP

oUR FiNpiNGS o

MY SURVEY ON dLASS

THE SURVEY RESVLTS Will BE GaMPLETELY
CONFIpENTIAL . PLEASE ANSWER ALL THE

QUESTioNs HONESTLY /
THANK, yoU. Si4NeD

PERSONAL-
- Bk, ~AGE
s BiRTHRAY » 1R
MONTH COLOVR
s i « NUMBEK ?F
%L‘Z'VK, _ cHilpreN iN FAMILY
» METHop OF 4ETTiNG To $tHool
|FAvamiTE$ |

s FAVOIRITE $CHOOL SUBJECT
= FAVORTE TEACHER.

s FAVORTE T.V. PRO4RAMME
» FAVOURITE FOP 4ROUFP

» FAVOURTE S5PORT

» FAVORTE PAY OF THE WEEK

(——
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~RESULTS FAGE
=pUT TALLY MARKS (+t 11) iN EACH Box
THEN APV UP yoUR RESVLTS /

BLVE qReEEN BRowWN OTHER

EYE
LOLOVR,

] BLAZK BRoWN Rep BLOND oTHER
HAIR,
COLOVR,

BiRTHPAY
MONTH

CAR
COoLOVR,

)z 15 14 5 16
A4E

NVMBER. of |1 2 2 4+ § >é
CHILDREN
iN FAMILY

METHop oF |WALK BikE CAR BYS TAXi OTHER,
GETTiNG
To saHoolL

FaVvouRiTE
SURIECT

FAVOURITE
TEACHER

FAVOURITE
T.V.
PRO4RAMME

FAVovRITE
VoFP 4rovP

FAVoVRiTE
S5PoRT

FAVoVRiTE |MoN
PAY °F
WEEK
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2 METHop oF
4EYTiN4 To StHooL

No. o
PVPiLS

Py A A 4 A e
B

BIKE BVS AR WALK TAX
METHop

FAVORITE TEACHERS

Ne-of
APLS

TEACHERS

CHooSE oNE oTHER
FAVWKATE iTEM TO 4RAPH

No. oF
PVPiL3
H]

|1 EYE CoLOVR,
o
NO.PF
PVPi LS
)
© T oUE  anmN  BRewn
EYE ¢oLOVR

00SE ONE OTHER,
Ej ?EK;WAL ITEM TP 4RAPH

Jo

NO.oF
PURLS

FAVIVRITE SVBJECTS

NO. OF
PUPRILS
5

b & A

SVBJECTS

ARE FUN, ANp UNPERSTAWDS
How IMPoRTANT THEY ARE iN
FiNpiNg ENFORMATION,, BUr
TK‘I ToBE MRE
"IRGANISED THAN
Ps iN Y.
BWRVEV%'




= GRAPHS gigapys 4RS!
Jovy’$ HEVGHT FROM AGES 12-18

180 ' AT WMTME WAS
175 > Jopy 165em TALLT

70 2| N WHicH TWo YEARLY FERiop piv
e HER, HEIGHT INCREASE MOST 7

160

15§ /
1%6 | WHAT HEiGHT WAS
145 IB

HEGHT iN CENTIMETRES

1IZ 13 14 15 16 17 18 SHE AT AGE 137

A4E iN YEARS 4 | T5 iT LIKELY THAT SHE
WilLL 4ROW MUCH TALLER 7

5 ESTIMATE HER
HEIGHT AT A4E 20

WWALiNEM . ° ° a ° o °
T2 SHOWTHS INFORMATION | e 0 (4 18 10 8 18 6
FOR PVIARVRV,

|

TEMPERATVRE

TiME
== AT WHAT TIME WAS THE HI4GHEST TEMPERATVRE RECorpED ¥
= AT WHAT TiMES OF THE PAY WAS THE TEMPERATWRE 6° [
s TN WHAT Z HOVRLY PERjop viD THE GREATEST RISE 0ceVR?
s WHAT WAS THE TEMPERATVRE AT |(.AMZ

MAXiIMUM ANP MINIMVM TEMFERATURE REAPINGS .

35 WHAT iNFORMATIoN (S

Q> 1| on THE VERTiCAL AXiS7

g 2 | WHAT INFORMATIN i5 oN

20 | THE HoRIZONTAL AXiS 7
£ 3, | WiAT ScALE S BEEN

" VSED oN THE VERTICAL AXjs €

B

o

wmr PAY HAp THE
$ M T W T F § HIGHEST TEMPERATURE?

- i mysf;;'r:fww WHAT WERE THE .
MAYiMuM 5
DI MiNIMUM TEMPERATURE TEMPERATURES 0N SATRPAY |
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THE FVFiLS of T -N. STEIN
COLLE4E EACH PREWA
SQUARE ABOVE THEIR,
FAVURTE TV PROGRAMME,
To MAKE THi$ 4RAPH J

M s |WRESiNG| NEWS | cARTOONS | SFoRTS

- WHicH PRaGRAMME i3 MoST POPULAR ?
= WHitH PROGRAMMES HAVE EQUAL FOPVLARITY ¥
~How MANY PVPiLS IN THE LLASS T
- WHAT TYFE OF tRAPH i5 THIS cALLEPT

A ARPENER HAS 40 HELARES OF LANP e
PLANTED WiTH VEGETABLES. A FiE LHART a

SHOWS Hi$ CROFS.
- WHAT iS5 § oF 407
- How MANY HECTARES of BEANS i$ HE GRowiNG

- How MANY HECTARESOF TOMATPES i% HE 4ROWING 7

-How MANY HELTARES OF CoRN iS HE 4ROWING Y.
- How MANY HELTARES OF GARROTS i HE 4ROWiNG 7

CORN | TOMATOES

"THE TOPP FANILY —
INCOME i$ SPENT AS
FOLLOWS : 207 Foop
307% RENT
15 7% ¢LOTHES
207, BANKREV
157 OTHER
. VSETHESE FIWURES TOMAKEAFIE amf@—




WHEERES

NiFTY NUMBERS FAN‘MSTIC. FRALTIONS

26 + 28=___ ? oOF 3 =__
25 - 17=____ 3 of 9 =
24 x 10=____ i oF 21 =_____
27 - 9 =___ * OF 4+ =__
23 + 24=_____ I oF IIZ =
29 — 22=_____ 5 X 5= __
+ L _
2l x |2=____ 5 + 5=___
22 - Il =____ 7 x & =__
28 — [3=____ & 4 %=_
, 38 — 29=__ § - £-=
MiGHTY METRIcS EXTRA EXAMPLES
309 + 90q =_____ PAYS IN 1 yeArR
64'3 t 463 = 24 HOURS =__ PAY
221 - |21-= 17 + |- 8 =
58l —291=__ 24 - = __
m= |-2km 0-5 x .3 =
m=1-567km 1’5 = 5 =
4000 mq = g 48 , 24, . 6
4200 mg = 9 1134- + 432 =
200 cm = m 777 — 555 =
234 em = m 0% =
THE QUINTVUS QUIZ
=FiND THE CO5TOF... 4H00L5Hop
I2 FELT TiP5 PENCILS
30 PENCILS E R for 0.
20 RVLERS L 42
10 BiROS e
IS FELT TiFSk (0 BiROS ﬂ{ig ; éﬁ; ‘f‘
75¢

NUMBER OF MiSTAKES
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~COMMAN TABLES o

= COMPLETE THiS TIMESTABLE /
o\ |12 |13 |4 |[I5 |20 |50 |J00

TABLES coME iN ALL 30RTS OF FORMS/
. _Po YoV KNoW YouR. 5¢HooL TiMETABLE?
FiLL iT iN BELow /

VAY \ | VAYZ (DAY 3 |PAY 4 |PAY 5 |pAY 6

[2) H




WITH. mﬁ% e \Q

VIVIPING DOORMOVSE/

- W\Zovw ﬁgnﬂfﬁmvwmm—- E4$Y/

mE | R e OF LR WE

TIMETHBLE TioRsony Epn=Tpm Q'ZZ $7-00 $4-00 %100

ATPi’S FRIPAY | dem-bpn V\IER 3300 $100

R‘NK 5527?.%4 715~ e MNEY $5.00 $300 $1-00

W f«"a’l’ﬁﬁﬁ’ Garq =1Zwoi U'N5PEK $2-00 $1-00
SA?}VE%?;N I-307M=515p Qggy $7-00 $4-00

= WHic¢H PAYS HAVE SKATiNG UNTiL 9pmM T

= WHEN i5 SKATiNG FoR UNVER.15's” ONLY ¥

= WHitH SESSioN i5 THE LON4EST 7

How LoNG 7
= Pi WENT 0N FRipAY AFTERNooN AT 4-45pm. JHE Coulp
SKATE FoR MIiNVTEs .

= Pi WENT WiTH 3 FRIENDS ALL AEPD 13 . THEY ALL HiREP
SKATES.How MUCH pip iT co5T iN ToTAL7 3

= MRS MATAI ANp HER Z CHILDREN WENT To THE
SATURPAY AFTERNOON SE55ioN - THEY owWN THEIR. SKATES.
How MUCH pijp iT tosT7

= WHICH SES5i0N aivES THE BEST VALUE FoR. MONEY 7

PIANNE REGONS SHE'LL. $TVCR Wit givisiaN.
TT LEAVES HER WiTH WARM FVZZiES ,
NoT' BRVISEY BVMFIES /7 129



. =KEEPA RELORD oF HOW MANY STUPENTS
ARE ABSENT iN YouR, dAss EACH PAY S

® =KEEP YoUR RELORD FoR. 2. WEEKS

ANP RECORP YovR RESVLTS oN

E % THE 4RAFH BELOW/

NUMBER OF PUPILS ABSENT
- N W > NV & U O @

"
'

MTWTF FMTWTF
' PAYS oF THE WEEK,

=WHAT POES THE GRAPH SHow 7

= ASK YOUR, TEAZHER. TO SHowl YoV THE LLASS REAISTER..
How i$ T RELORPED ?
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,gﬁ%M N L E

m.f TA BLE SHoWS YoV THE PisTANCES iN
me'rkss BETWEEN SoME SovTH TSLANP TowNsS /

4
i

ALEXANPRA 822 | 316 | 90 | 905 | 274 | 418 | 274 | 660 | 188 | 472 | 708

MiLForRp SOUNp
PVNEPIN

is
BLENHEIM
ALEXANPRA

QueeNsTOWN

BLENHEIM 266 | 486 | 822 | 117 | 655 [1092 | 921 | 321 | 690 [ 322

CHRISTEHVRAH | 333 | 164 | a8 | 440 | 333 | 770 | 587 | 255 366/

PUNEPRIN 705 | 202 | 294 | @08 | 339 | 403 | 222 | 559

4REYMOVTH 104 | 385 | 605 | 295 | 503 | 911 | 780
TNVERZARGILL | 936 | 424 ( 194 1029 | 475 | 266
MIiLFoRg SwWNp 1016 | 604 | 279 1211 | 594
MoUNT ook 599 | 212 | 206 | 780

NELSoN 231 | 603 | 939
QUEENSTOWN | 710 [ 342
_ danme| TIMARY 502 P07 gt s =
WESTPORT
=How FAR. i5 iT FRAM. . .

BLENHEIM To CHRISTCHWRLH TiMARV TO WESTPORT

MT. £00K 10 ALEXANRA ALEXANDRA To NELSON

NELSON TO 4REYMOUTH 4REYMOVTH To BLENHEIM

== EPj ANP POLLY 40 ON A BV$ TR, FROM CHRISTCHVRLH TO
AREYMOUTH 5 ON TV ALEXANPRA ANp TiMARY, THEN PACK To
LHRISTLHRH. How FAR, Pip THEY TRAVEL?

= TS iT QUiLKER. TO TRAVEL- FRoM NELSoN TV PUNEDIN ViA
LHRISTEHUREH OR, GREYMOUTHT

~THE FiNAL- TOURNEYS /
WESTYORT i$ 104 km FROM
ALEYANIRA IS 4B km FroM
HRisTeHuRar 5 339 km FRoM
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EFPPIE"S AMAZING © -~
-You'L-L NEEl: APALE ”ﬁ“’""'”"z’f?}?é";ﬁéwr.

FRoOM THE RESVLTS oF THi% EXPERIMENT WE LEARN

ABovT How oFTEN DiFFERENT LBTTERS ARE USEP iN THE EN4LiISH
MNéuA:.E/

TALLY How MANY TiMES EALH LETTER. AFPPEARS ANP ANSWER, THE
I RUESTIoNS pgLow !

L | WHicH LETYER i S
LEAST FREQUENT.

[2] wrizH vowet is
MosT FRERUENT ?

3| LisT THE 5 MosT
VSEp LETTERS

N
0
P
Q
[
=)
T
v
v
W
X
Y
Z

WHAT poES THE TALLY TABLE SHoW'T

You coup TRY THiS EXPERIMENT WiTH ANOTHER.
REFEAT THE QUESTioNS / LANGVASGE]

= WHidH LETTER i LEAST FREGQVENT 7
= WHitH VOWEL (% Mo5T FREQVENT 7
= LiST THE 5 Mo$T U5Ep LETTERS
= WHAT POES THE TALLY TABLE SHOW7?
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WHEZKE

NiFTY NUMBERS TRENPY TABLES

m+19 = I15-8 = __ 9 x 4 =
20-15=___ 30+12=____ qQ x 7 = ___
3x2| =____ 28%4=____ q9 x Il -
S6r12=____ I15+9 = qQ x 9 =
74-3¢=___ 70+5 = __ q x5 =
44-27=__ 2x25-= 9 x § =
2x140=__ |00F20=___ q *xJ2=___
[50+5=___ 100-60=___ 9 x 6 =
633 =__  60t34=____ Q9 x 3 = ____
loq9+§ =_____ |50x2=__ 9 x |3 =_______
SiLLY SEQUENCES

£OMPLETE THE SERQVENCES ANV WORK oVT THE TOTALS OF EACH Row % coLUMN 7
367 [q|11[13]|15]17(193 |%]

TOTAL OF EALH coLVMN
=WHAT i THE PATTERN iN THE LAST colVMN 2

-~ WHAT i$ THE PATTERN iN EACH ROW TOTALY.
- WHAT s THE PATTERN iN EALH COLUMN ToTALY.

RELATIVE RELATiONS

IF =20, FiND % / %///4
Oz 2 ( GF
THESE W

NUMBER oF MiSTAKES 43




144

242 212
153 567
265 658
| 04 896
222 420
115 - 240
524 637
-2.36 ~548
Z3 Z4
X 3 x 5
Z/158 3)354
|o)qqoo qulBl

4)610

19
400

589
771

243

-~ 144

505
377

8)8805

5)335

6)4‘866
7 ) 3282

: |
-
W

[
M\

7/é570

65765‘]2_

opo-pA-crAZY | T

Z29 | 7-Z

jo5

09

I-2

PECIMAL | 03

SQUARES /

5omr-:nmzs ACLURALY 6 BETTER THAN SPEEP: /77
DiP yoV 4LET THE (oURSE RECORD ¥



= ARITHMETiC APTiTUPE

—VUSE YoUR NVMBER $SKills To FiLL iN
EACH 4AFP To COMPLETE THE EQUATioNS BELow/

[2+6 =15+ (3+8)-4+=___ 13+8 =___*+|3

l6 +5 = 14+___ (7+9)t__=20 36 —__=20116

5+_ =9+ 6 (9 -3)t_=15 q9+9 =_+8

4 +_=|8r 6 (1z+3)-8=___ 6+45 = 40+t ____

é +‘l=i+8 (12z-8)+3 =__ 16+0 =_+ 6
Now WRITE X or =+ iN EACH QD To MKEEJTREELES/

6/\3 =18 24 /\z2 =48 6/N\q -12

4 /\9q -3¢ 70 /\7 =10 AN |
Ia»&é =32 éaA 10 = 600 36&‘7

[}

- 4
20 /\ 5 =00 50 /\ 5 =10 46/\2 - 96
— ZOMPLETE THESE
%MEERSENTEN‘ES
00 -10=9%_ (4x6)t_—__=30
I6+4 =10+__ 3x2x*x__ =30 (3 x7)- 8 =
B3 xq =227%___ (lz+6)+2Z=__ (6rx6)t_—_=43
26 -8 = __+8 12 +(6+2)=—09 (4x8)*+9 =
14 +7 = 30 - 6 x(z2z+7)=—— (7x8)-—_=49
48 -6 =____+3 (8 x2)+7 =" (6x_)+§8 =38
42 +__=9 -3 20 -__<=8*7 (——»9)-5 =40

. « « AND FiNALLY

X|[5 |10 |15 |20
7




THE MAGICAL MiND REAPER

COPY THE FOLLOWING ONTO 6 CARDS . SHow THEM
TO A FRIEND. ASK THEM Te SELEcT_ONE
NUMBER FROM ANY cARD- NOW 4ET THEM

To TELL Yov WHicH <4RpS THEiIR NVMBER
APPEARS oN. App ToceTHERTHE NUMBER ON
THE ToP LEFT HAND <£0RNER OF THOSE cARDS.
THE ToTaAL WiLL BE YOUR FRIENDS NVMNBER [/

Z 3 & 7 Jo 1t /% (5
1§ 19 22 2% 26 2] 30 3

34 35 38 39 42 45 # 47
50 51 5¢ 55 55 57 6] €3
CARD B

4+ 5 6 7 1z I3 |1+ /5
20 X 212 2% 28 29 %0 3/

3 37 39 39 4% 45 F6 47

$2 5% 59 55 b0 4 k2 63
CARP C




5+27 =____ 15-7 = 20 =___~5
20-12=___  40+6=__ 24 T~ __=6
686+9 =_ B8)+9=___ Jz x2=6=____
92-il=____ 49+7= Sx__ =]5x|
7x45 =_____ 36-6=____ 20 +4 =6 x_
IBx6 =____ 45+45~= 38 T2 =15+
300+ 60 = q0+2=____ l8 -3 =5x__
200+200=__ |00+4= Z oF = 10
3x24 =__ 3%x36=__ 1~ -4 *+t4 -
l0o8-92=___ 1055~ ___ 40 = 20
Viscovs VARIABLES MoNEY MIXTURES
a+raq+ a+at+ta-=____ COST OF 4 IceE cREAMS AT 70c
4b+2b +3b = EA¢H
Gx +2xt2yrdy=____ ZO0F $5
(2b+3b) 4—'_ SPEND $3-70, CHANGE FROM $5
t o 2y- T .
6bx .2 =______ zkﬂ OF RIiCE AT 90c kg_
4a + 2a+3b=__ $ 600+ $30
5k -5k = 2 SAVSACE ROLLS AT 45 . EXH
8¢+ 2c+50c= _ CHANGE FRM$| For
90, 2= __ 2 SAUSAGE ROLLS
CROsS NUMBER
"1 7 | [ | vowN ALROSS
d / yz)ﬁ |0 5%]3 }ioFlé‘l- W 3x7
V/‘ 7 %55 12 144+12 3,21 x5 13 27+ 24
g,fxn 5,4-5‘—‘-3
, —14 6 200+50 ¢ POVBLE | 2.
- . 7*7 9, 500+ 40
Y i'/ PovBLE 101 19 TRiFLE 200

NUMBER OF MiSTAKES
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Po-VA-ERALY

COINFLIP!7

—ANV mRNAmmaMB-W/
T

WHENWEFLIP |.. . THE cHANCE 7 =3 v ALjP THE
ACOiN... OF HEAPS ¢oMiNg L” TM;?&QWAE 2:#3, 700 TiMES

R VP i$ THE SAME 50 WHAT‘ po YoV

[ EP | ASTAILSS "WE coubw A5 T e i Rl

I HA"’EN7TK7IT
Sy ANv seel .
U D U 0 é Q"v
LD 018 €

w=RELORP ALL YOUR RESVLTS |N THE TALLY TAELE BELoW

HEAPS Thi>

WHAT HAPPENEY AFTER looFLIP5 T

FUP THE LoiN For,
ATITAL oF 100
TIMES. pPoN'T
FoR4ET TO TALLY
EAZH FLIP oN
THE TABLE/

I% THE FiNAL oUTeoME “‘5'0-50"7

THE PROBABILITY OF TAILS TURNING VP f$

PRAW YWUR, ResuLTS
ON A PIiE 4RAFPH .

= LisST 5 OTHER EXPERIMENTS WHicH
WoVULp HAVE EQVAL OUTCOMES.

M




N\

~. ;
Qj
m@? WMW%
PR
! e
FROBABILiTY 1% THE 3TUPY OF HoW OFTEN SOMETHiN& MI4HT

HAPFPEN . THE BEST WAY To LEARN ABoUT PROBABILITY is By
EXPERIMENTING - TN THiS ALTiVITY , YoV EXPERIMENT WiTH PicE/

=WHAT FATTERNS
pip You NOTIi¢E?

= WHitH ouTeoME 15 MoST PoPULAR. S
PRAW YOUR, RESULTS oN A FPicToaRAFH !

FREQUENGY

= T0 LALLVLATE PROBABILITY pP=

IF WE ROLLEP THE picE ONE
MORE, 4ALLVLATE. ..

p(4ETTiING A oNE) = P (4€TTiNG 4 FouR ) =
p (4eTTING A TWO) = p (4ETTINGAFIVE) =
p (4ETTiNG A THREE) = p (4ETTiNGA 51X) =

Ay A;,L THESE FROPABILITIES TO4ETHER .- WHAT DO yov 4ET7
WHY ?

149



,+5 §00 THROWST

= YoV NEEY A FAIR, oF
If yoV ROLL BotH picE 5 THEN App THE h’ i
2 NUMBERS {] THE SUMs yoV
.‘ &AN&ETAKE:Z,3,4"5,6
X 7y 899910, 1l y]2. THROW THE Pk
100 TiMES ANP
POSHIBLE TALLY FOTAL RECORp THE SUM5’
A YoV ger/
Z
3
4 WHicH ovrcoME is
5 MosT PoPVLAR 7
é
7 WHICH ovTCoME i3
8 LEAST PoFVLAR. 7
9
it VSE YoUR. EXPERIMENT
RESULTS To LALWVLATE
THE PRoBABILITIES
BELOW /
= PROBABILITY oF 4ETTING ASUM OF 4 =
= FROBABILITY oF GETTING A SVM oF 7 =
=PROBABILITY OF 4ETTiNG A SUM ofF 12 =
ARE THESE ANSWERS THE SAMEY WHY'7
PRAWYOUR,
RESULTS oN é"
A BARGAN 3
_— R
Lo
3
2 3 4+ 5 & 7 5 a4 1w 9 =z

SUM OF PicE
150



NiFTY NUMBERS
38 —-16 =____
46 + 49 = __
48 + 45=____
53 —27=____
40 x ||
32 x 4
28 x 7
45 + 9
3.+ 8
64 — 26=____

RAPDICAL ROMANS
LII=__

2

26

THE QViNTUS QUiZ

L LEFT HOME AT

WHEZKES o

PANDY PELIMALS

[\ )
+

NN
]

N

W

+

ml -
Qm\q‘n
| T /I |

Joo x 234¢=______
432 - ]o0=
69 7: As A VECIMAL is

q 7. AS A PECIMAL S

ExTRAEXAMPLEs

471 + 400 = _____

800 + 800 =

600 — 32| =

700 - 4‘]0 =

1o x5 =_

234 x |6 =_____

422 - 100 =____

oo - 40=___

999 + 888 =_____

999 — 8868 =__
—FKil?Ai—
OVTOFBEY 7-15

IT TooK MiINVTES To LEFTHOME g-05
GET TO S¢HooL . SCHOOL WENT | 4oTTo scHool. 8°40
FOR, HouRS . SVPPER. ScHeol FiNisHED 3-10
WAS AT TOPAY . I WAS ARRIVEP HOME 4 -00

OUT OF BED FOK

NUMBER ofF MiSTAKES

HoWRS. | SUPPERTIME 4°25
INTOMYBEP J1-30
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= MOPE

= MEPIAN
= MEAN
= RANGE
ke WHo A4GE I.Q. MASS kg
@ PAp TOPP 40 100 80
MVM TorpP 35 110 5o
ALY | tai Torr 13 12.0 35
STATENGS | Ana vore ¢ 110 30
KiKi TOPP
MopE A4E MEAN A4E MEPIAN A4E
AGE RANGUE MEAN MASS MAsS RANGE
MEPIAN MASS MwE I.Q . MEAN Z.4 -
T.Q- RANGE MEDiAN T, THE Li4HTEST TOfF i3

froer uies!

“TAi’$ HOVRS PoiN4 HoMEWORK

RAN4E oF TIMES

LAST WEEK © 254, 2.,1.,3,0. 72566,70, 67,73,68,74
MopE TiME RANGEF $LoRES

MEP#AN TiME MEDIAN 5¢oRE

MEAN TIME MEAN SctoRE

VAD'S 4oLF SCORES LAST
YEAR WERE :

BEST ROUND

... ANp SOME oF YoUR oWN STATisTicS
THE MEAN A4E OF OUR CLASS i
THE MOPE A4E OF OVR CLASS i5
THE MEPAN TiME L SPENP SLEEFiNG

152



W@%Mf

NiFTY NUMBERS MoNEY MiXTURES
17 - 15=__ 48. + 17 =
43 + )6 =______ 48c - 17 =______
19 +17=__ 4 x 30 =
42 — 13 =__ 259"'60;*24'4 -
13 x 8 = $2 +33 %12 =
7 x|l =____ How MANY |Qccoins Make $9 T
2 X 60=___ How MANY 20 CoiNs MAKE $4 7
32 - 4 =_____ b6, + 28 = ______
84 + 1z =___ b56c - LB =
37 + 24=____ $1'32 +$5231 =
Visaovs VARIABLES EXTRA EXAMPLES
atra+a =____ 500 + 2l6 =
b +2b =___ 180 — 94 = _
2. + 4 = 8 x 60 =
5d + 7d = ____ 20 XxX)00 = __
2¢- ¢ =___ goo - 16 = _____
14f-4f = 203 + 302=
10g- 59 = 415 — 310= __
6h+ 2h =_____ 210 = 7 =___
|7+ 7¢ = 3294 + 177 = ____
6J "6_’ = 423 — 222=
THE QUINTUS QU'Z y TOSTQBE;RS s
—How MANY pAYS iN NOVEMBER,7 R EREE
~WHAT PAY iS ocToBER. 29th7 pEEREEE (|7
~WHAT DATE iSTHE FiRST FRIiPAY OF — L—— "‘
OCTOPER ?. M ’}‘OQ’EQ"BFEH s [V

—\WHAT PATE i5 THE FOURTH SUNPAY OF

NOVEMBER 2

= How MANY THURSDAYS iN OCToBER 7
NUMBER OF MiSTAKES

4 5 6 7
11 12 13 14 15 16 17
18 19 20 21 22 23 24
25 26 27 28 29 0

12 3
e 910
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“ROYNP-UP-TIME !~

IZ MAY BE ROVNPEP pOWN ~lo
99 MAY BE RoUNPEP VF = |oo. GET i/

~A BREAKDOWN OF (RIiME Fi4URES
IN STATISTic CiTy

MAXLAND 4086

PROBARANGA ©8)7

aw
-----
|

AVERA4GE TowN
4904
MINATOETOE 0324

RANGEWICK 2868

NUMBER OF ZRIMES

To THE Jo THE To THE
SV BVKB NEAREST |0 | NEAREST 100 | NEAREST 1000

App ALL THE ACTUAL. CRIME Fi4GURES

WHicCH APPROXIMATION TOTAL- i5 CLOSEST To THIS ¢




. . - AND CRIMES SOLVEY. . .

PERLENTALE OF (RIMES SOLVED
SVBURE ACTAL | T8 | oz anteer.
MAXLANPD 42-61
AVERA4E TOWN 38-383
MEANVILLE 41 - 75
TALLYHVHU 34:92
GRAPHERE 33-166
RANAEWICK 35-50
MiNATOETOE 37 - 27
COMMONVILLE 4344
PROBARANGA 29 -89

OVERALL 1.

="To FiNP THE oVERALL 7. OF ¢RiMES
SOLVED YoU HAVE To :

(2] App THE FiquRES

(2] PiVipE THE TOTALBY NiNE

WRITE YOUR ANSWER iN PosiTioN 1.

NOW ORPER YOuR LUNCH FRoM THE POLICE
CANTEEN - ROUND ALL PRicES TO THE NEAREST 5e

70 80 B85 85 75 75

- JN -

85 70

/

q0 ©80° 65 g5 70
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You NEEp. - .

oo A PECK
oF PLAYiNg

93.. THE PEALER THEN

| PLACES AN EXTRAARD
4. vEAL4cARps 0 (THEANSWER cARD)
EACH FLAYER.  FALE UF 50 ALLLAN SEE,

Bm [

A M
£ . EAcH PLAYER MVST TRY TO

¥

ARRANGE THEIR, LARPS To MAKE THE AMoUNT oN THE
ANSWER. LARP. YoU tAN +,— X oR = . (AcE= 1)

5. YoU CAN ASK THE DEALER. FoR EXTRA LARDS iF
NEEDEP , BVT You MVST USE THEM ALL.

FiRST FiNISHED —Z PoiNTS
SELoNp Z¢ THiRp FiNiSHED —1 PoiNT

THE WINNER, j$ THE FiRST oNETO
REAZH 1Z PoiNTS
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SOFT SVESTITVTES EXTRA EXAMPLES

a=25,q+8-= 90 suBTRACT 48 |5

b=34,b+Il=____ 84 piviPEP BY 6iS

¢c =46, ¢c +23 =____ $24-20x5 =
d=62,7+d =___ $36°85x20=
¢c=3l,19+e=____ 1234 =1000+_+__+
r=48, 17 +r =___ 2806 + 708 =
s=50, 29+S=____ 4091=__ +0+___+]|
b=54, b -30=___ 3456+ 6543 =
U=20, U -|4=___ 8765 — 5678 =
V=40, 3v = ____ 777 + 888 =

THE QViNTVS Quiz
~FiND THE ¢o5T FoK . . -

| ADULT % | tHILP

% ADPULTS X 2 CHILPREN

4 ApuLTS X% | LHILD

| APULT % 3 CHILpREN ===

2 APVLTS % 10 cHILPREN

NUMBER OF MiSTAKES
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=

DER BRFE LK

ConpLere THE

STATEMENTS PELoW
USING THE CiRdE
DiAcLRAM. PuT THE
LETTER APBOVE THE
CORRECT ANSWER
(N THE copE

A LINE THAT ONLY ToUtHES A CIRCLLE AT ONE PoiNT.
A PIAMETER i5%

THE RApiV5

- /
LINE AB 1S cALLEP A

THE DiSTANCE AROUND A CiRAE

IF 7p i5 20MM, THEN Z5 is

A LHORD THAT PASSES THRoVvGH A LiRELES cENTRE

PoiNTS A,B,Cy0 ANp E ARE ALL THE
SANE FRoM THE cENTRE

HALF A CIRCLE (5 A
THE SHADED AREA Eoc 15 c4LLED A

PART OF A iRCLE €9 THE POINTS BETWEEN
A AND B

WHAT po You cALL A MilLioNAIRE WHo NEVER WASHES 7

3 A ¥ N
& KO N &ﬁ | V\Qy & S {\«“}&
@ J]U /\“é \#,(\\ 1\




—— FPAKTS-N-CIRCLES —

SHOW A TANGENT

PRAW ALiRAE
5HOW AN ARC l}ﬂow A SBAMENT ,(,wiuy = 104H

PRAW 4 semMicigere

How Q
pRAW A 757~ | SELTOR z,oN&ﬂle PDINTﬁ

PRAW AN ANGLE N A
SEMICIRCLE

DRAW
UAVK |LATEM

wmm V5T
FiTs Mg

PRAW A QUARTER LIRLLE
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— |

e

At
THE PIAMETER

d-

mm

FIRST MEAVRE
OF THi% dRUAE

NEXT PRAW
2 CiRALS
INSIDE usiNg
Y THIS
PIAMETER

=N

NOW LoLOVR
iN CAREFULLY
To MAKE ...

15 |
el

LIANT —
Kiﬁms VﬁSIGNS /

Z

Vsing THE

LIRCLES
INSIPE .

&9

OTHER ciRAE
PRAW 2 sipel

—

Now PRAW
2 LARGER
LiRLLES TO
MAKE ..

&

iNTo gET. ..

AY

NEXT coLovi

ANOTHER. PESiGN You MiGHT CoNSTRVCT % £OLOVR

/

ﬁ




L
sTEL =

MEASVRE THE
RApivsS oF THE
CIRUE BELOW
RApVS=___ MM

VSE THi> RAPWS

To PRAW (2 NEW
CIRCLES ON THE

POINTS 4iVEN

@

CIRCLE PATTERNS

You StovLp Now
HAVE THI5
COLOVRA You R
pESIGN /

i
(LD
;ﬁgﬁb

Nz
pe

N
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-

NiFTY NUMBERS FANTASTIC FRALTIONS

45 — 24-= 'iz', OF 6 =__
237 + 38 = E OF | = ______
53 — 46 = * oF 8§ = ______
62 + 52.= T OF 20=
30 X I2= # oF 40 = _____
42 x 5 = E x 5= __
36 - 9 = fi + :e;‘_
55 <~ Il = ;- X vzl =_
27 X 6 = o + |07
68 - 19 = 3 - 5=
MiGHTY METRics E] EXTRA EXAMPLES
310m + 240m = _____PAYS INJULY
I46m —58m = IZ MONTHS = YEAR
4569 +3549 = 3:3 +77 =
23'5“853 = 36 — 28 =
5271 +386l = 06 x 5=
3941-1591 = 24+ 6 =
6500 m = 20,19 , 17, , 1o
m= 67 8080 + 808 =
93] ¢l = 456 —265 =___
el = 96 1 2% =
THE QUiNTUS sz |
FiND THE 05T OF. . cHooL SHep
100 RULERS Wt s,
loo BiROS FELT
2.6 FELT TipS$ % 30 PENCILS & Tips $2
50 BiROS & 100 FELT TiP5 ﬂf BiRos 2for |
50 RVLERS % 300 PENCILS 1521 RVLER

75,
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A5 [T
V4
OCTAHEPRON

’- -
. = -

ON THE NEXT FEW PAGES ARE SOME EXAMPLE NETS.
MAKE YOUR OWN ON A PIECE OF CARD.
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"THE GREAT
RHOMBiCUBOCTAHEPRON
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@ POPECAHEVRON
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NiFTY NUMBERS TELLING TABLES
I9-6 =___ 14x5=____ N x 3 =
3+|9 =__ 49xq = ___ I x 7 =
20-14=___ [5+8-~ __ N x 9= ____
4x]3=___ 26+2= Hox 1=
5S5+5=___  20x5= 1) x & =
I04-10=___ |06+8= —— I x 8 =
3x90=___ |o0+l0=____ Il x 10= ______ L&
Zqu+7=_ 30x5= Il x I2= ﬁ@
28+2=____ 20x2=____ nx4+=_—_ |30
I8+27=___ |8+IS= I x e =
Viscovs VARIABLES MigHTY METRIcS
y+231' 55 =__ 20 MINUTES AFTER [0°55Am
5¢+3ct8c=__ WHAT iS HALFA CRUE CALLED
9d-8d=
5'P *r2pr8p=___ DiAMETER = | Icm . RADIVS =
joe +5¢-3e=_____ 100 YEARS = DECADES
2f+20F- 6f = How MANY MINUTES BETWEEN
29.5- 2:25 pm AND 3720 /M
3x.4x = ___ MINVTES IN 4 HOURS
39:—33=_ 10 LITRES OF PETROL AT $1-l0
83 -4 =___ PER LITRE coSTS
RELATIVE RELATIONS
IF

=

NUMBER OF MiSTAKES

% = 1Z , WHAT is THE VALVE oF ...

/ //
f "y,
./ vy
Y, Y
/ V2%
P /s
Y ;’/”
7 7
[/_/// g

7
M =
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JAY I
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2&&13&@

dIUYILI

Y AANTIL7
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gdn7

DIaH A

MAANL K7

IN o7

NaJaHY 5071
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